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254 RAN—EES
R4 RAN—FERAERD
KIOICATA REET, A=
ZRELTLIEE L,

B M STORCL STATCPLXMATX VCTREQN (IR FIXSCILINE AV Disp

PR =
[l [ 'l -y R N |
P N I LY B
= L R =
Sz
(KRB VI—5-)
C VT h—
TP TPE—
M SR AEY

STO ZEHAXAEURE

RCL CEBMAEUFUHL

STAT :1-Var &2-Var #stE—R
CPLX  EBF¥EEE—R

MATX fT5IEtEE— R

VCTR RIUNLUEEE—R

EQN  /EEdEEE—R

B T IU—(E)E—K
= CSITPVE—R
 GU—RE—R

FIX BRI RREE— R

SCI CREERERRE—R
LINE DA VE2—FE—R
A CPwIrO—
v O FO—
Disp  : NILFRT—hXYRKRR



[FUHTTERICIEDHEIIC

iR ON/OFF
W SYIDIRE:
1. Bt — MES ISRV SEMNRIESINE T,
2. [N R (B [=)(ca) =T &, BHEE Y FUET,
iR ON: [oN)Z#3 g
TR OFF: 505 2473
B A— MO —F TH%gE :
AHEIFHY 7 DREHRIEZITOIEVNE . BEMICERNMINE T,
FnIY bS5 MRE

W it (6] (6: 4 CONT b ) FHg &, FndY bS5 R MR
DOE@EICADET,

COMTRAST
LIGHT DARE
[4] Ce]

Q=BT E. FaRTUADIY RS MELEDFET,
QEETE, FAATUADIY RSARHEBLEDET
[CAFcFonZHT £ TV MSAMPEEL. KD IUT7EN
e

B RT3V S MBS OEE T, SR 3)[=)([@a)=Hd &,
B@ET A ZRTUADIY MSRNEDEFELET .

E—RER
W (o) 730 U CSHRE— MEROBEICADF T,

1:COMP  ZiCPLH
SIETAT 4:BRSE
SIERN E:TRELE
TiMATH SiWCTR




B@T A AT A

s = AT ——

KN COMP |@#steE

2 CPLX |EHRHEE CPLX
STAT #Het. @IRETE STAT
m  |sase |DEQHEVATLE
5 EQN HEREE EQN
(6] TABLE |BB#T—TJILEtE

MATX  |{T5I5tE MATX
VCTR |~Z MUEHE VCTR
W ERER COMP E— RTY,

BEHO7 TUr—arXx=a— (Apps Hhe &5

TIUT—y3VE—RICE. BEEHESTIUT—V a3y
DI EE—ROSENTVE T, SHEE—RTELDHE
HHEREN DD F T,

W =L, 0T D EE— REHT S, HEE— REAEICA
DET,

W EEElTE, PTUS—Y3 VAT 1—BEICADETD,

B A/ QEETE, §/ ROR—IICEELET.

i) COMP £—FR i) CPLX E—R
iz Z1E 1w Z1wa+bi
SiMax diMin SFiAra diCon.ia
St &2 Mod SiReal Gilmas
TiLCH == {sin]
iii) STAT E— R
1:Twpe  E:iData 1:Tree  z:iData
SiEdit 41E-2UM SiEdit  4i=S-3UM
S E-VAR BIE-PTE SiE-VAR GIisS-PTE
TihDistr TiDistr SiRea
SD £— ROEHE REG E— ROEE
iv) BASE E— R
v A
i:and  Zior ) 1:d Frh
Fixar dixnor | OFEO b 410
SiMot GiMea ZIHY
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v) EQN €E— R

v
1iZ unknown E&H
213 unkhnown E&M
Sid uhkhown EQM

vi) MATX E— R

v
1:0dm ZiData
JiMatA dimMatB

SiMatC &:iMatD
TiMatAns

vii) VCTR E— R
1:0im zZ:iData
SiVCLA 4:VCLE
Sivct givctD
TiWotAns S:Dot

W feE Al

STEHERE

[CEE®)
Y

BFRO
Y

liuad E@H
ZiCubic E&H
Sikudart EaN

A
1:0et ZiTrN

S Ide 41 Ad.d
S:Inu

FIVT =23 AZa—=ETUERT,

W hiftsew iy - SHESSREEECADE T,
Q/OEBTE, R (FlFF) DRX—IICBBLET.

v
liMaths ZiLine
SiDe3 4:Rad
SiGEra GiFix
TISCi S1Horm

<)

[SEIEES®)
T

liab-sc Zidsc
SICPLX  41ETAT
SiDizp  GIACOMTR

W SHEROANB LUHAFK [1] Maths [2] Line ZBIRUF T,
[1] Maths (HEREE2—FE—R):

REHDFEAD A BIRE
H.on. ZFR) FHEHAEC 21—

T# =Y FCRRESNE T,
[2lLine (A4 Ea2—E—R):

REBOFEANEEDFS A
Ea1—7#—<v hCTRREINF
9. LINE" 74 AVHERRINE T,

HRBEI—FE—R

A5+1
-1 =
3

SAVEI—FE—R
TR+ 0310
1.224744871

STAT. EQN, MATX, VCTR E— RDBE. ANEHAFERIFEE
WICSAVEa1—E—RICPDEDDRT.




B AEEIO [3] Deg. [4] Rad ¥zl [5] Gra Z&IRUF T,
[3] Deg: BESMNT 4 JU—E1HD
[4] Rad: BEBUNSIT7VELD
[5] Gra: AEBANTL— REED

90" =3 5Y7PY =100 JL—R

W HTRRE fcl348%1 [B]Fix, [71Sci, [BINorm RINEEIRLE T,
[6] Fix: BE/ISRERE. [Fix O~ 97] hRREN, [0] ~ [9]
U TN ROMEZRELE I .
% 220 ~ 7 =31.4286 (FIX 4)
=31.43 (FIX2)
[7] Sci: BEHE#ER. [Sci 0 ~ 9?] B&RRE1. [0] ~ [9]
U CEMTSEEELET .
Bl 220 + 7=3.1429 X 10' (SCI 5)
=3.143 x 10" (SCl 4)

[8] Norm: g8z, [Norm 1~ 2?] BARRSN.[1] FzlF [2]
U CIREERTENZIRELE T .

Norm 1: 2HEH' 10 HUERONEH 2 EDBE. BEKIIC
BHERRELEDET,

Norm 2: 2HEN 10 HU ERONHNOHIU EDIBE. BERIIC
EHRREEDET,
1 +1000=1 X 102 (Norm 1)
=0.001 (Norm 2)

B 53R [1]ab/c Ffeld [2]d/c ZRIRULET .
[11ab/c: FNYEEELET,
[2] d/c: ROBZIRELEF T o

W ERBRTHR [BICLPX([1] atbior [2] r<6) ZFRLET .
[1] a+bi: EBEEREIRELE T,
[2] r<6: MEREEELE T,



W FEtRTRER [41STAT([110N F1zld [2]0FF) #BIRULET .
[1] ON: 5t 7—& ANBEEIC FREQ ($BESE ) IS L%CE
LEY,
[2] OFF: &t —4 AEEIC FREQ ($EEIRE) IS LEKT
LFY,

W /\mFRmAZzaC [5] Disp ([1] Dot Fzl& [2] Comma) &
BRUET.

[1] Dot: /J\#miERERZ Ry MERICIEELE T,

[2] Comma: I\ RiERExRZE IV ERICIEELEF T,

B RRIVRSA B [6] © CONT(Q ZHEUET.
‘FRIY NS N DEBEEESRLTLIZS0,

StEZIRD DHEIIC

B BEOHEE— RZ#ELEY
FHEZIRDDAEIC, IREDFHEE— K (COMP, STAT, TABLE).
RNTERE. AERMRE (Deg. Rad, Gra) ZR 9 IKEEA >~
I =5 FHER L TLEE L,

B HREICRLET
RICR, (7)(=) (YES) (A% L THHEREIBRECRUET.
FEE-—F : COMP
AN/ R : Maths
BEBARTE : Deg
RTHTHERE :Norm 1
DEERTER :d/c
HEtT—5 AN : OFF
INBRRTERE : Dot

COBEICK DT, BEYXEUDIUTEND T LIFHDEEA.

WS ERERELET
BEDFREDDOD SEVNB GG, SHEROIEEETS ENT
FFT GHEE—RIE "COMP" . BERAMRTEIF Deg” ICRED.
UTUAABUDPEHAEUDANTDI UTSINED), BRBT 1
RATUADIY T ZAKIDWVTH. UTFDF—BRIETHIEMLT
TFEI,
F—i8E : AR (3] (All) (=] (YES)



LAMEDAS

ANBE

AHEIF—BIDFHEICDE 99 )\ RETDANNTEETT, BR.
HF+— BET— HEHBET—F@FEZH IO 1
A hEEDFET, —BOWAREF 4~ 13/ hefERLET, S,
ERRUBEF—(F/)\1 hESALFEA.

ABDBED 1081 MUTICHED E ABA—VILE "1 " H5S °
I’ (CEDD. AFUDEDALELIE O TS EEHSEET,

ATiRE

W ROAANE T4 ATUADEDSIHEDE T, ANT—FH
1541 (SAVE2—E—R) /16 HBRECL2—FE—F) =
BABDE TAHAICZIO-ILLET, © FeFOZEMT &,
EICRD. ANERETHEDTEXRT,

B> VE2—E—RTE. O =2HTE A—VILEANDEY
[CYv> T, @ ZRTE, RRICY P TUET,

W EBEL 1 —T— RTlE D—VIVEFEANDREICHDHE
F O Z®IE. APDBACY v TULFET. HLE. H—
VILBESHEANDRAICHDBEE. © ZlTE. ASDFKR
[CIv 2 TULET,

W BESES LSRR REOREINZERBUE T,

Bl:2xlog 100X (1+3) =16

+—i8{E1 R
(.0 0| DEE DI | 2xi0g(100) x (1+3)
%86 I |

EEE@E 16

3

F—IR{E2 : ®R2
X) . (0] #&< |2 (0000100 | 2log(100)(1+3

HEIE

16

1. RERS ) ZEBULET.
+ BRI ORIDASZEE © 1x(2+3)
 ENZESORFSHREOIDANZER : 2 X cos(30)
- BLEETE e DRIDA S Z RIS
« ZH (A B, C. D, X. Y, M), m, 6 DRI A1 7ZER
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*2. EAEN [ DEDORESEDEE.
%l : sin(, cos(, Pol(, LCM(---. 5|18 GRIIEN D] ZANT D
MENRHDFET,
*3. (=], v, s, BT DI, HEFEND) ZEBLET,
W BEAELEEZANE—R
SAVEI—E—RTE B BAFCELEEE-—RTANT
HTENTEFT,
« FBAE— R @HASDE—R) TE A=Y IUIEsTHDMHR " |~
EHEDET,
« PEEE-RTRE, it 20 g & H—V VD BRI
M CEDD A—YVIVDRENBICHHXFE LEELET,
XEBEL2—F— RTIE. HFAT—ROHELEDFET,
RIAAETAVE2—FE— RN SHRBE 1—F— RICEDD
& BENICHAE—RICEDERT,

B XOHIFRS KUIEIE
BAT— R BT OXNFERIFBEBHOAICH—VILEBE ST
Tz,
EEBEE-F HRTOXFECFBEHDTICH—V IV ZEBEE
jeRdrc e

fl: 1234567 + 889900
(1) ANZBERZS (1234567 — 1234560)

E— REE F—1RE R (AT Y DOH)
— 1234567 [+ 889900 | 12345671+889900
sS4 /4EL1—E- | O7E
N THEAT-R] (0] 12345601+889900
FHiE2: chift ST (73] 1234567+889900_
14 E1—F—NR 1234567 [+ ] 889900

=3 — N ift  Inses
[EEEE—N] gt nsere
©8mE 1234567+889900
(0] 1234560+889900
(2) ik (1234567 —~ 134567)
Bt 1 X ©12m 12|34567+889900
A/ EHEE 1T
N [EAE— K] 1/34567+889900
73'5 2t . chify teerty 1234567+889900_
11—t —NR
1
[Lszt—r) ©13H 1234567+889900
134567+889900
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(3) A (889900 — 2889900)

SAY /BREE 12— ©e6ME 1234567+|889900
K MEAE-K (2] 1234567+2|889900

HHEL 1—F— RTOANERBRRR

B HREL 1 —F— NTR HEE—EORE (Iogx2x° X v v,
L6 x7, 10" eV Abs) DANEBRERGFEE / HERXEL
D&Y,

HEEE1—F— B EsT)

i F—#1(F EGN
‘[_i () () (3] © (=) |-
V2 @E®™EE B2

AR

(1) ANDKICKOTIFEHEXDEEN 1 DOXRTBEHZBR CLF
STELBDFET, REANBER 2 BHOFRER (31 Ry
~X2) FTTI,

(@) BHOENZLHANITDHE, SAEROXAETEUNEDELLED
CERBOFT, TDHE, AZEHCHBELT. TNnenZE
PIFTCEELTLEE N,

(3) 5t&%. AN UKXO—EAEH TN T, BEA—RICERR
TEBVBARF. OFFEOZEBLTCRELBRRIED &
NTEFET,

BEREHESLUIS—AvE—Y
EEWE - AERE

PEREEMTE | R 18 #I

BE 1 BOFEICDE 10 TEDBEE. £ 1
HERETROBE REDEIRFICETHHE £ 1
HAIEERE +1 X 10 ~+ 9.999999999 X 10%° LU 0




W REEE AR

BI%K ADEEE
DEG [0 = IxI <9 x 10°
sinx RAD | 0 = Ix <157 079 632.7
GRA |0 = IxI <1 x 10"
DEG [0 = IxI <9 x 10°
COSX RAD | 0 = Ixl <157 079 632.7
GRA|0=IxI<1 X 10"
DEG | Ixl =(2n—1) X 90 D & ZZFRWT. sinx &
5%
tanx RAD | IxI =(2n—1) X /2DEEERNT. sinx
ERL
GRA | Ixl =(2n—1) X 100 D & Z &RV T, sinx
ERL
SIX ) <=1
C0s™'X
tan-'x 0 = Ixl =9.999 999 999 X 10°°
SINNX__| § < 1 = 230258 509 2
coshx
sinh='x | 0 = IxI =4.999 999 999 x 10°
cosh''™x |1 = x =4.999 999 999 X 10
tanhx 0 = Ixl =9.999 999 999 X 10°°
tanh-'x |0 = Ixl =9.999 999 999 x 10!
logx/Inx |0 < x =9.999 999 999 x 10%
10% —9.999 999 999 x 10%° = X = 99.999 999 99
ex —9.999 999 999 X 10%° = X = 230.258 509 2
VX 0= x<1x 100
x2 Ixl <1 x 10%°
X3 Ixl =2.154 434 69 x 10%
x-1 IxI <1 X 10'° x#0
3vx IxI <1 x 1010
x! 0= x =69 (x I3%H)
nPr 0=n<1X10"°0=r=n(n&riEEHK)
1 =nl/((n—r)) <1 x 10'°°
ner 0=n<1Xx10°0=r=n(n&rid=K)

1= nl/rl <1 x 10 &7 1= nl/(n—r)! <1Xx 10"

12




Bk

AN

Pol(x,y)

X,ly] =9.99999999 9 X 10%
Vx2Hy? 999999999 9 X 10%

Rec(r, 6)

0=r= 999999999 9 x 10*
8:sinx ERL

or

PR

a],b,c <1x10'®
0= bc
RTROBDEIEE 2 /NERIT+/ -1 DREHHYVET

[x|<1 X 10"
10 i © 60 HEZi
0° 0 0"=|X|=9999999° 59' 59"

A(xY)

x>0: —1 X 10"®<ylogx<100
x=0:y>0

x<0:y=nm/2n+1) ( n & m IEEEH)
fBL: —1 X 10™<ylog [x/<100

Wy

y>0: x# 0,-1 % 10<1/x logy<100

y=0:x>0

y<0x=2n+1,2n+1)/m ( m#0; m & n (3EHK)
{BL: —1X 10%<(1/x)log |y|<100

ab/c

BHY. 9F. DEBOEFHH 10 HUT
(FEESZEE6)

i~ Rand(a,b)

0=<a<1Xx10° 0=b<1x 10"
(@& b IEHTEEHHO0THS)

Rand

3 MIDEMUE B =LA L £ 9 (0.00 0~ 0.999)

LCM(xy,2)

0<x,y, z=9.99999999 9 x 10%( F%#K)
X y,z=0 DFE. TT#IVMER

GCD(x,y,2)

0<x,y, z=999999999 9 X 107( IEE#k)
X y,z=0 ODBE. TT4IVMER

Q-r(xy)

Mod(x,y)

0<x, y = 999999999 9 X 107( IEE¥)
0=Q=9 999 999 999, 0 =r=9 999 999
999 (Q&r FBHTHD) x=0 DBA. T7+IL
MER

0<lxy 1 =9.99999999 9 x 10"

y=0 DFE. T7+IVMER =x

—EHD
HEhESE

[x|<1 % 10
|FREQ] <1 X 10"




k2 AS#E
gy W< X 100

< |lyl<1 x 10100
HERE | ereqi<t x 10100

Abs IxI<1 X 10"
Pfact |x = 9999999999 (IEE#)

EQH:0~0111 1111 1111 1111 1111 1111 1111 1111
BIN &0%: 1000 0000 0000 0000 0000 0000 0000 0000 ~
T 11 11 1111 1111 1111

IED#: 0 ~ 2147483647

DEC gy 2147483648 ~ -1
oo |EOB:0~177 7777 7777
S0% - 200 0000 0000 ~ 377 7777 7777
iex  |EOH: 0~ TFFF FFFF
S0 - 8000 0000 ~ FFFF FFFF
-1 - A <as<b<i- A
Z(f(x)va’b)sq%%gé; 10M0<a=b <1 - 10M0) &M
-1 - A <as<b<i- A
”(f(x)va’b)sq%%g-é; 10M0<a=b <1 - 10M0) %M

*

EETEDBAICIFRENRBESIN. ZOEHBRENKIDKELK
BTENBODET. AxY), x\y, 3V, xI, nPr, nCr & THIBRE
STEDERTINDBEICHHTIEFFEDFRT,

B [ ZES TERZRTRULEYT
TERDBE. ZEO CGGHERRERTUERT
1. B LU R EERD N DS S,

a~@+dv’e 0<a< 100, 1=<d< 100

c f 0=b< 1000, 1<e < 1000
1=c<100,1=f< 100

*

2 FEBIURMEEER/RIMESZZ0 1 1A, Fld2BHD5BE.
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BEOBSTIEL
FHEIRDEK S [CEENICEEEITIEZHRTLE T,

%1 |z

XEUFOHL (A B, C.D EF, 0~9),Rand

% 2 I|fz

FEMADEHE ()

% 3 I/fz

BFELRBRXOANZHBEET HIFMDOE DR
Pol(, Rec(, d7dx, dx, sin(, cos(, tan(, log(, In(, eA(,
10A(, (. 3 (, Abs(, i~Rand & &

% 4 I|fz

x2, x3, x,x, "0, AL (%, logab, EXP,
Pt

% 5 IIgfz

ab/c, d/c

5 6 IEfI

BIBEES : (). (d, h, b, 0, Neg, Not) &

B 7 Iafz

HEtOHEBOE Xy, x1,"%x2
HipgEITURN

% 8 I|fz

RHLSEROBE 2 1, 5A Asin30 &

% 9 lafz

5. ##A&HE : nPr, nCr
BERBEZERES (L)

% 10 Ig6L

Ry b,

511 1Bz

FERE: X, +

% 12 B

PRE -+, -

% 13 I

@12 AND (and)

% 14 BT

52 OR, XOR, XNOR (or, xor, xnor)

% 15 JIRfL

FEHOIYY N = M+, M- STO, Pr<6, Pa+bi

15




B B UBRIBUOEEIAED SEICEITINETT,

B FNADBEEFRYCEITINE T, BHDEHEICSENT
W BAEICIE. BRZENINICANSUEN D HHBEDHDFT .

Bl

BEEZEE oe— 4
[O=@0ME (-22=4

B EUEBEIEMOSRHV EDDSEICSEAT NS,
) 1:

DEEEESE 1 +2m=0.1591549431
%l 2:

A ) 2—A
OEEESARE 1+ 2A=
STHRY v I

W A#E [REv ] EFENDAEUT U7 ZRANT. EEIC
BEIBMIICHE S THIE (B LERSS (+ —. X)) Z—KH
[CREFELET,

B HERRAY Y IE 10 UNL. BESGHHADRAY Y IE 128 U
NIVTT, RY VI DERBEBADHABEERTULDILETD L
24w T5— [Stack ERROR] BELE T,

B 5t51E DREIER] (SR> TBRBICRITINE T, EHNRTE
Nd&. RESNERAT Y IDSHESINE T,

IS—XytE—IBRUIS—0O5—%

IS5—DRAZRT XY E—INKRRINTVDHIE. AEEOY
IS, ERETEFEA,

W QAZHTE IS—MNIUPEN. BRIE— RFOFHDRRIC
ROET,

B OFFQOEFTE, TS—OTICH—VILBBHINZIRET
SFENERRINET,

B ONZEHT & TSN O UT7EN UT VA AEUZ2THIBR L.
BERIE— FOTDDRRICERDET

16



I5—

Xyt—o — L
Math - PRRIERROBER |- ANEEFIVIL. Fh
ERROR BHGRAEHRALEBL | SHATNTHBBENICDH
TWa, BT EERRLTIEE,
- FBANEEEBASME| EALTVBXEUIUF
ERVTHEEZRGTLE| OBICHICIEL LS
SEL. (A%
- IS EE (O
IC&2BES) ARTL
EeY =N
Stack - BERAR Y O EEIGE | HEEBRICLTIEL,
ERROR HHSAARY IOBE |- #ERE2DUECAFT
EBA TS, <R,
Syntax CANULEBRICRUDS |- QFAQEMLT. T
ERROR %. S—EmERRS . HE
RABEL T LS,
Insufficient |- %7 —JILE— KD/Y| - BHAE. RTESLORTY
MEM SA—B—RERHREG. | TEEZEABIELILEST
1207 =7 NCD& x| T—TNatEaEEaN s L
8% 30 LA U, THOBEHEL T EE
5%
Dimension |- 7512 MNLE—RT. |- Q%2 EQ&#ELT. T
ERROR SHEEE (7. ) H175I| S—EERRS Y. HER
(78l /ld | OBAR L RXT MO | EBELTLES,
RO MVEE | BERSEBA TN,
E—ROH) |- AP LEFFIPART ML
HRICERY DD B
Can't - ZOFERIC. ZUTD |- KEHROZHONREIH
Solve BAEE LR, ISRV EBDbNBHIEE A
ERROR LThs. BESFELTE
(VLT =0,
D#)
Variable |- ARAMEL KL, - FRERETHEANLTE
ERROR - BRXPEENATOEL. | ELTLAEE,
(VLTHEE |- FRROBPIEELELE | KBHKOBREEELLE
D#H) HE—HLTORL, BE—HILTHD, BEG
BLTLEEL,
(P51-53 #BHET %)
Time Out |- BT&MEBEETICK|- RTREEEELTHS. B
ERROR RIMEAPET LTLES | ERELTES,
(HAEIIHE | 72 (P53-55 #5887 %)
PEEDOH)
Argument |- FEARZIHEEBL TV QF~EQAEHLT. T
ERROR %. S—fEmERRSE, 65

—EXYBELTLZE,

17




W o)1) 723 LT, COMP E—RICLE T,
W SERCE A VIT—5—Dd GHER-REL) HERRENDT
ENBDHT, CAF—72 U CGHEZHMSEH I ENTERT,

MmREE HEXE

- BOE (BOEHZRL) ZEETD5EE. BEZEFEIRICAN
TLEE L,
© FHE 99 UNILDBARZY R— L TVET,

HEPE— K e (1)

5l F—IREF E7
(257 (2J(J (57| (257 25
DI =] 4
@x107)2x | (4] (xp) (7] (5] [X] | 4e75%-2-79
107) (2) 1
(9](=) 1250
XEUER (ang ' ) 2 T2 Rl

THAXEY

T8, BEER EHZEREFITD 19DEHYAEY O0~9. A
~F M. XEY)DBHDHET,
« REEETIE 0~9, A~ D, M. X & Y(E & F LIS OBHAEU%z(E

AULTT -5 BBRER. EHZREFEL TSV,

- YEEAEUCRET DA, 25T + ZYAEUERUET,

* AEUEZIFUETHEEE. + BHATUZEHLET,

- (0BT, + BEYAEUEHIT EICRD. AEUDREZET Y
TIBHIENTEFT,
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Bl:23+ 7= A (B0%ZAICR?F). 2sinADEtE. XEUA
(Ol AVY

WEE— I : i S (1)

il *—151E R
23+7 A (2) (3] (F) (7] &Y | 23+7—A
D 30

2xsinA=1 (2) (sin) 28 —& [=] | 2sin(A

*EUSUT (0] ™ B A 0—>A

MWIIXEY

CBUXEY N FBHAEYEFUXEUIUTPZERALTL
FI. Rt =BT DIRICERNTY, (XEVICHEZNES)
FllF U (AEUD SHEZRS ) ZHULET.

+ EIBEROBRZS JICUTEXEY DRBFRFENE T,

C WIAEY (M) ODREZEIZ U7 I 2BE1F. (@&, MEAR
[OF= -

« AEBUBZEINRTIUT T H5AF. LR 2(MCL) (=)A=
LT rEEL,

FUH—XEY
c 3, =) e, Y B0 mimY & ASMEFEREHTD
REERDSEBNCT YT —XEUICRESNET, PUH—X
EURK 18HIETRETEET.

c EEETCECEST, BRICRESNP VY —XEUERD
HUTHERAT BT ENTEET,

- BERRENTIS—OBAICE. PUH—XEUEERSNEEA.
c AEMLED, SHEE—REZBURLD. FIFEHEOERE
Yo THZ VI —XAEUDRBMRIEFESNET,

1 iR £
123+ 456 =M+, | (1)(2) (3] () (4] | Ans?
Ans?=335241 | [5][6 =) 335241
789900 — Ans = (97(9](0]| 789900-Ans
454,659 (0)[—=] =) 454659
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DUEE EEE

AT DHEENARTT . DY N HR. FOUBLTERD
HOBTRRZYDBADENTEET,

c by NP Y TEET, HHEEERETAHI (08) £EHR
DY () THEET DI ENTEET,

- PHIRETE. DHEEDE (F) ELTRRINF T,

LY NPV TEET (mf) [CRELTVEVEEIG. HOMER
BERRENEE Ao

Ha¥ (ab/c) {R5#% (d/c)
. 11 2
Sk=-4 —_F—RN — =
KRB 1 —F— N 3 33
SAVE1I—FE—R 13 323

B S EEREFZHFE LT, 2B ENHIELICY)DER DI ENT
EFEI,

W EHEERGER L Z U T ROMEFTABICYIDER D LN
CT&EFY,

B DHE BY+HF+OB+HREELS) ORITHN 10 Z8BR 2
BEICE. BRIEEENITNERERINET,

B DHER(ISNHHNES o TVDIBA(CIF. ERRERFNMREZR
TNEY,

D < INRER
T s 1]
il F—121F R
12+3-1 ™1 O 1148
(2) 6 +HE)F) 7
(6] (=] 3
% - 2333333333 1%,%
(% ) 2333333333
2.333333333 < 2% e 1%%
(/Ngk < FHE) 2%




RTHIEZIR

HEBEC2—FE—RT. RZEHTE

< R, niE < iR, VR
TBHTENTEFT,

HSA(VE21—E—RT. FZEHTE
< NHIEADBOHZIRTE,

MERSNET,
SAVE—R:EEs

BREERDEZDHIZN
< N\HIER OB TER

BEEROEED B
EDDn &  EHEIRINKIBED

1 F—131F Eal
§+z :%:2.666666667 (2](=)(3] 213+2
D= 3
2342
2.666666667
;ﬂ?f F Shift SET:UP] E
7l *—1R{E &R
§+2=§=2.66()6666()7 (2JF)(3)0 %*2 8
2)(=) 3
F—D 2 +2
3 2.666666667
el mEI0)E) [ 5
=0.5773502692 $
tan(30
0.5773502692
wrg=ly & 2 (=) " 1
=0.3926990817 J
7+8
0.3926990817
ARRIE

—BDBEERICBNTIE, FZEHLCORREZEZRUFEA.
—BDRTMERDEHRICEFEHNRIDDD ENDDET,
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=tV &

Dx

HEE—R B8 (1)
i F—1RE RN
820 O 25% D3 (2](0](%x][2]|820x25%
(3% &) 205
750 M 1250 I (5)(0)(=)(1]|750+1250%
] 24 ift o
TN 25000 & &
(=] 60
ENWEtE
E (). 9. BF—2ALST&ICKkoT. 60 it (60 HEAKL
JE)ETEEETURD. 60 EH7Z 10 ERICERTEFT,
BN < =
ﬁ—?—f '\ Shlﬂ SET-UP m
1] F—1RME E- &N
86°37'34.2"+ 0.7 = (6 +(3](7]| 8637 °34.2°+ 0.7
123°45'6" a)J2]
(=Jo]]
=] 123°45'6”
123°45'6" — 123.7516667 86°37°34.2°+0.7
123.7516667
2.3456 » 2°20'44.16"  |[(2](+](3](4](5]]|2.3456
(6)(=) 2020'44.16"
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UILABLURILFRT— XY

B UTUAXEY
« UTZA XEU[E COMP E— ROMHMEFTEETT .
- SHEETHR. BBNICGGIERSBEEBEREZY JUAXEUIC
RELET.
cQ(FEF O)EBTTEICEOT, BTULSEREE
ERERETIUATDTENTEET,
C BEERPRRINCE. OFFOERICEICEST.
ZOERDFAERERET D ENTEET,

DA VIT—H—HEEEROEAICRRINDBER
AEBLTH SO FFOEBLTEEZ UTRESES
TENTEET,
C WUTFEFSE. UTUAXEURIUPENET,

1. hiftR (3(=](CA| CEt B E R LT .

2. SHEE— RELEFRTE— REVDEZ S,

3. N +—%H#Y,
4. SO, I LT,

STEROBRZYS,.

B IIFRT—RXV

- J0Y SEAVSZEICEST. 2 DL EDFERZRRICAS
THENTEFT,

« RAICEITSNICETEICIE. "Disp” 744 AVHMHEFRT, &k
DEHEDFH. ‘Disp” 7A AVHMIEFEA.

BEE—K s

1l *—1 KRR
1xi2=12 () (%) (11 (20 25 | 1x12:2¢25]
+25=27 :
rar—tav iz |2 IE2]5]
RS 4 Disp
= 1x12
12
= 2425
27
O BED ®
UTLA 1x12=12 1x12 ”
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RisEs shis

AEFEEH 79 DRZEHZNE L TH O, il e 239 T & (T
Ko T, EHEREEDRRSNET, & g mBEHTE. EH
BEREEMNMET UEXRT . UTOBEEINERRENET :

Input  1=79 00
4mP Mn me mu aom

c AFCF@EMICEICLDT. RECSHOEHAX =1 —FIR
N=ICBETDHENTEET,

- BHEBRTZBER. OF RO EMLET, BRA—V/ILH
EFXIFAICY T MUTRMESICMRZM T, BiICTRZM
[FSNCEHELSDEN FORTTICRENE T

s [ElEET s MROMVCERESZERLETD.

« BIRA—VIVA0 O [CTHRZEMITTVD EEIC, EMEDIEEE
SEANUTEEHT L. EHEZBDCENTEFT,

F—iRtE 20
SN P (X1 —BRR—) Input  1-79 0g
4mP mMn  me mu aok
1E1E=] el
(51=] g*38
44.80665
(510]=) AnsxS0
2240.3325

24



(BE D=5 €

No. EH s & Bl
1. | BrEs Mp [ 1.672621777x10% kg

2 |t FES My [ 1674927351 x1027 kg

3 | EFEE Me [9.10938291x103! kg

4. | FEFEE My [ 1.883531475x10%8 kg

5 | R=7¥ZE o /4nR e a0 [0.52917721092x10™ | m

6. | TR b |6.62606957 1034 Js

7. | REEF el /2m, UN |5.05078353 x10% JT

8. | R—THiFehi/2m, UB |927.400968 x102% JT

9 | h/2n % |1.054571726 1034 Js

10. fﬁfﬁif? o |7.2973525698x10°

1. | HHEBFHE o2 Te |2.8179403267x1071 m

12.| AV T hVigEh / me Lc |24263102389x10°12 m

13.| BFRSEERE, 20, /F | Y p | 2.675222005 x108 ST
4. |BFAVT VR h/mye| Mep | 132140985623 x107° | m

15. | FUFIAV TN EER h/me| Ao | 1.3195909068x10°8 m

16.| Ja—RAJES 02mec /2 h| Roo | 10973731.568539 m’

17.| () RFER R u | 1660538921 x10%7 kg

18. | BFRIGE—A> b Hp [1.410606743x10°26 JT

19, | BFHGE—A> b We [-928476430x10% JT

20. | PHEFRGE—A4> b Wn [-0.96623647 x10°% JT

21. | FRIFRIGE— A b Wy [-4.49044807 X102 JT

22| 77 5T —EH Nae F |96485.3365 Cmol !
23.| ZBH e |1.602176565x10"° C

24.| 7RA FOEK NA |6.02214129x10% mol !
25. | RIVYRVEHR/ Na k |1.3806488x102 JKT

2 | BESHOTILAERIP| vm | 22413968x10° m3mol”
27. | BIVEEESR R |83144621 Jmol K1
28, | BZERONRE Co |299792458 ms’!

29.| 58 1 EER 2mhe? C1 |3.74177153x10716 Wm?
30. | 55 2 B hok C2 |1.4387770x102 mK




No. 8 5es & Bifi
31.| Y2777y - FVYRVER | © | 5670373x109 W m2K-
30, | BEDREE /o €0 |8.854187817x1072 | Fm"
3. | e o | 12.566370614x107 | NAZ
34| HEREFh/ 2 Do | 2067833758x10°5 Wo
35. | IEEIRE g |9.80665 ms?2
36.| 12858 XBF262/n | Go | 7.7480917346 x10° 3
37, | EEORIAVESA | 70 1376730313461 0
38 | BEEE t 27315
39.| Za— b VEAER G |6.67384x10" m’kgs?
40, | BERE atm | 101325 Pa
41 [ BT G2 e/ un 9 | 5585694713
42| 1on /27 Ton | 021001941568 x1075| m
3. ;/“Z;—}]ﬁ%/cw b {1.616199x10% m
“. ch_(ﬁ“j e tp |5.39106x10% s
45.| 7508 (fic/6)"2 mp | 2.17651 x10°® kg
% | FFERER My | 1660538921 x107 g
47.| BFARIL (0] eV | 1602176565 x10° )
DB Nah | 3.9903127176 x107° | Jsmol"
49. | V1 —VBDERIER b |2.8977721x103 mK
0. ?gﬁcﬁi%%@ a |543.1020504 x10-'2 m
st. ;};;'ﬁ;f*”’*_ Eh |435974434x107¢ J
52 [OV2S v N Na/vm | N0 | 26867805 x105 m?
53.| AV RY BV ABFOUE | Go! | 12906.4037217 Q
54| D3t Y ER 2eh | Ky | 483597.870x10° Fov
55.| 747w 4 UEE | Rk | 25812.8074434 Q
56 |n /21 %o |386.15926800x10°5 | m
57.| MLV VHRE 87/ 3)% Oe |0.6652458734 x10%8 m?
58| BFHST XV MRRE | o 115065218076 x10°

luel/ ug-1
59| BT G I 21+ a0) 9o |-2.00231930436153
60. | EFHEEE 2 uel/h | Yo |1.760859708x107 | siT-
61, | FRIFRIGE— A FER | 8 | 1.16592091 x10°
62| FRET G {RE2(1a) | 9 |-2.0023318418




No. T = fi& Bt
63. | HRF IV T bR A |11.73444103x1075 m
/mye Ch
64. | hop/2m Ko |1.867594294 X101 m
65. | 20V T bR /mec | Ag ¢ |0.697787 101 m
66. | ho,x /2T %6 1|0.111056 X101 m
67. | RINES m . |3.16747 x10% kg
68. | hop /21 %p|0.21030891047 1075 | m
69. | Y=V FRFRISE— A2k | (o | 1410570499 X107 JT
(H20, Bk, 25°C) P
70. | FHEF GRS 210 /un | 9n |-3.82608545
7. | REFRSERRLE 2w ol /B | v, [1.83247179 X108 sIT
72. | EfgTFEs my |3.34358348 x10% kg
73. | BB FRSE— > b Hd | 0433073489 x10% JT
T4\ T)AVESR Mh | 5.00641234 x10% kg
75| YmIVRIVAVBISE— | |, | 1074553044 x10% | T
AVh (&R ER 25°0)
76| Y—URTUAVHISEER | | 2037894659 X108 T
Eown/k (G B | vh
25°C)
77| 7V THIFER Mo | 6.64465675 x10% kg
78| ¥ — IV FIBFREREIEGLE | o | 2.675153268 x10° T
2w p/h (HO, Bk 25°0) | ' P
79. | B FHES > —IV RHEIE 25694100
107 p/up(H20, BR 25°C) | O'p

| EMIEF IR ZEXH D EHTEX A

(&H) : CODATA Internationally 2010
http://physics.nist.gov/constants
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B{RE
AHTIF 172 BEOBHIREZANB L THD. HDBEMDHIEE

RIDEMDYIBICERT D ENTEXD,

CRE L OEEE A Ltk ow) 7218 LT 2R X = 1 —DEE(C

ADFET,

- 36 MEWIVY RESAIE8 AT IUR—Y (I8, B
BE. B8 2B, IXLF— ThEEE) hidb. AFEk
F@EEU AT IU—BRR—IEZBEIT B ENTEET,

c AFTU—R—ITR QFFOE/ITEICLOT, &

RO—VIEEKICEEICEBTDHENTEET,

Da s Bifir
1 feet 74—k
1 m F—hIb
1 mil )b
1 mm SUA—hIb
1 in AVF
1 m EUFA=MIV
1 yd —F
1 mile <A
1 km FOA—M
2 ft’ FHI4—k
2 yd? FHY—F
2 m? FhHA—PIL
2 mile? FARAIY
2 km? FAFAA—L
2 hectares 7By
2 acres I—Hh—
3 °F ERK
3 °C B
4 gal Aoy FE)
4 liter Uy Ml
4 B.gal AOY CKE)
4 pint YA
4 floz REA VA KE)
5 Troz FOAFVR
5 oz FYR
5 Ib RVF
5 Kg FOU5L
5 g I
6 J Ja-lb
6 cal.f Aal—
7 atm IEARE
7 Kpa FO/\ZHIV
7 mmHg IKERRES U A— ML
7 cmH:0 KeFA—Mb
8 m/s F— vt
8 km/h FOX— b)VEES
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+ AT IU—BRR—INTlwm 27 &, FHEE— RICRD
CERTEFT. L. RETOBEMEZRRUER. ®
/ @Fe(F ) F—FEHICEDFT .

« BIERD A —)\—=70—- LTV 315E(E [ERROR] DX v —
IBT A RIVACRRENF T, [E)@LTH—/\—T0~
BZEBERI D EETEREAD ROV FUFTHEH T,

VFUFA - QFLFQEBLT, MDOEREDRER
I LE T,

VFUF B - [N FFCA)ER LT, BEDANEEHE
L. BRZERELET,

23U C- w2 LT, FIOSHHEEICRD .

DG 1 10+ (5 ft? > m?) = 104645152

F—15E RIR

Unit (distance) It
(1) (0] (+] (5] [em) feet m mil mm in
(BHREX =21 —(CAD) cm yd mile km
Cle ft2 ) yd2  m2  mile?
(REERTD) km* ha acres
o= 10+5ft2b m?
(m?[CEEI D)

10+5ft2» m? ‘
(BRAZEHTD) 10.4645152
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REETE

B g (1]738 L C COMP E— RICADET,
B 7=3.14159265358979324
H e =2.71828182845904524

TFE - b =R ZFR ANTFE ASHER P 0
HFE—R : shift s )
1 F—RE EZD
shift 5
27 +5° 4er [:D@ 27 +5° 4er
=0.6217559776 chifty &

=) 0.6217559776
(eem) (OO E@DE)| (i .v6s)
(6]® OO
=7 =R CI AT
3) ¢ DLJE=] 7

XE. BANE. 58, log.b
HFE— R @ s ()
Ll F—1R1F R

e3+10'2+n3 = | i f:“ [(=)])[3] O | e +10" +In(3
16.99733128 Shi . m[j

()

(2] ® (+)(n])(3]

(=] 16.99733128
logs81 —log1 =4 | (&3 =037 (3 log, (81) - log(l

(1] @ [(=)(g) (1]

(=] 4
=l sliveed

DR EFDREBAREIR T «JU— (Deg)’ TI, f
L CEY b7y TEEICADTEZE "SI (Rad)” &
fzld "J— R (Gra)” [CRELTLIZE W,

liMaths Z:Line
FiDea  4:Rad

SiGra  Eifix
TrEci  SrNorm




ZEUCVBERAICINT 2¥FF—3]) . [4]) F/eldE)ZH LT

(Q/utay

TaoU="
BAEF.

SIFU.
AR I L T IEE W,

112
18

Lo ZNUTIHRCT, B R @4 95— —DRRFENET,
JU—K OB TRESMZZHRT D

M. 2], B)ZEMTE. JRRSINTVBDEMNERUICAERMICE
HWENFT,
HEPE— R o ST (7]

il F—1R1E T
180!2‘%—7;;;’7?: it sevor (7 (7718 | 189°
JL—KIcE ift ores
(180° = Red = (o] & e (1 (=) T
200°9 & e (5] (=] |10

200
=R

B =AY R Bz <) ZRA T $allc.

shuﬂ SR ARG &

[CK T YIS AERAL (Deg/Rad/Gra) %E?R b’C(R’éb\

< VR EERD=H
FEEMRE BEEOAD DA DB
Deg 15° DEfi ‘Jl" <9x10°
Rad %2117/7‘/0)1%#& ‘Jl" <20
Gra 2RI rotaH || < 10000
WO0° = 2 SYPr =100 JL—R
=A% (sin/cos/tan) LE=AREE (sin'/cos'/tan™)
§Slq—=E F shnﬂ SET-UP m
Ll F—1R1F R
Froy—F—f | i e 37
. in(60
sneo= ¥ |Gm(6J0)=) | &
iz =Cosec 45° = /3 @ (a)(s) sin(45)"
V2

31




X eh #5 B9 # (sinh/cosh/tanh) & % 3B #R B &Y (sinh'/

cosh'/ tanh™")

W () 72350 U CRBRIROY TEEICADE T,

lisinkh Zicosh
Sitank  disink-
SicoshA Sitank-l

1] F—1RME R~
sinh2.5 - cosh 2.5 (1J(2](J(5]| sinh(2.5) - cosh(}>
=-0.082084998 E E] @ @

=05 = -0.08208499862
Cosh145 (5)(4)(5)(=) | coshas
= 4.499686191 4499686191
B3I, HEE. MR EHRE
n!
W E5: nPr= ey
D _ n!
W #5E: nCr= To=n!
WS X! = x(x— 1)(x—2)...(2)(1)
1] F—1RE R
10P3 = 720 ()0 &% ™3] |10r3
=) 720
5C2=10 E Ehify ner @ @ 5C2
10
5= 120 BEEEEIE
120

32




W AHRE

iffnd, - 0.000 & 0.999 DRI CEMAERES B D ENTEET,
Flo. BARTRE- PICBVWTHRRZDHIERN TRRULE T,

gestd - 2 DDERDIEEHE IOV TEABERESED &
HTEET. " TR THFANEITVET,

HEPE— K : 8 (1)

£ F—1&E RIR
0.000 £ 0.999 DRIT | Y rnd ) =) Rand
AMERES D
139
1000
1~ 100 O#E Alpha i gand shift o .
poumEREses | o (1) & |i~Rand(1,100
(1J00)(0](=] 33

MERBICTET. SHEHBRIEBOREOET .

RIRMEH, BRI
B L CM: RA T3 DDIEDEH(CHITDRNRNEHZHELE T,
B GCD: &AT 3 DDEDEHICHIIDRANNHZ B LFT .

HEE—R 2T
11 F—1BRME R~
LCM(15, 27, 39) e (1)(5) &% | Lem(15,27,39

=1755 i
S@DE@ES 5
EE)E 1755

5l R =

GCD(12, 24, 60) e (812 it | GCD(12,24,60
" NRanler=
(6](0])(=) 12
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W o (1] ##RLT. COMP E—RICADET,
W a = FIAKIE. b=&THIBE. c= Al

b
#pE—r: 11 (C)
x=a
S4A4VE—R:TI(c.a b)
Bl : 7552 (x+1) DO h'5 5 FCORREET B,
BFEE—RABES (1]

e SE0A

5
cCwomm |
720

W (o (1] %L T. COMP E—RICADZET,
W a = FIBEHIE. b=KTHIE. c=HEL

g2E—r: % (C)
xX=a
SAVE—R:Z(c.ab)
Bl 57 (x+1) D 1 h'5 5 FTORIEEET B
SAVE-R:BEs (]

B SEO| Z(X+1.15
=Y

20
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W (o (1] Z# LT, COMP E—RICADFT .
B K5 DDYEFTHEIT D ENTERT,

BEE— K BT 1)

3 &sin30 & cos30 | 2 (3] (3] & 2 | Max(3, sin(30), C >
ORXEERDD | o 57 (o) (7] shi

Sed6)0) =) 3
3 & sin30 & cos30 &ees 7] (3] &5 2 | Min(3, sin(30), C >
DER/IMEZKDD i) © 0 shitt

HeIe)0= -+

W@ (0 Z#LT. COMP E— RICADFT.,
SAVE—R:fifEs 7]

23 & 5 DREORD [ 2% (6] (2] (3] &ifY | Mod(23, 5
(Mod) Z3k$h D !:] 35 = 3
23 &£ 5 OREORD 5 [6) (@) (2] (3] | Mod(-23, 5
(Mod) &k 2 shift 2 (5] =)
o w— 2

35



SREMR

PFact

« EOBYUFHIIRK 10X T, FRYIEEK 3HETTY,
Pfact #£ : 0 < X < 99999 99999 (X (K TT)
« BHBTERBRVED DB IE. T« AT LA RN TEIENE T,

5] : 99999 99999 = 32 X 11 X 41 X 271 X (9091)

HepE— I s (1)
F—IRME E.
A
(9] J[@J9] | 9999999999
ERER DR EN
shift prac 32x11x41x271x(9»
ERva 1777 -
Shift PFact
Eoc (777)

b=

¢ IRTOSFEE— RTREYFF(Z]) Bg. fd ODVTFNHE
Y& FRMDBOBREEIHE T LET .

 REAZ2—BEETCHEEMORE (Dee. Rad. Gra) F/zldE
EDIHAEE (Fix. Sci. Norm) ZiRET D ENTEET,

+ 10EH. D8

[CRRENET,

SHEERDBDMEICIE oI
Q..RHEEICKRTSNIES

=N

SaF/zld Pol. Rec.
Xwt— (Math Error) HiEE
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[EERENOEES

B A (Q & BDEOBROIETY, B#R () & BY
DEDETEDYINEN D IeBZENET .

B SHETEOSNCE (Q) DIECHR () DEFEHAEY C &
XEU D ICEBNICREINE T,

B HREL21—E-RTE. OFEOEMUTCRVGIEERE
AOO—)VEBRRIDIEDTEXT,

B SAVE1—F—RTEE Q) DEEFF ) Z2TRRLET .

W ROFEICHEIITER LD, ZHATUICREFEIDRMEL. B
(Q) DIEDHATRETT o

SAVE—R ST (2]

1 F—#1(F EZ

35+10=3x10+5 & (5 (3] (5] | Q35,10
Q=3 Shift 5 Q= 3
R=5 O o] | A s
BOE Q) +3=6 3](=) Ans+3

6
& (Q) OE&FUHY =5 c

3
5% () OWAFOHT S b

5
EEAREIR

W BEERTE -180° <0 = 180 ° DHFEINT 6 Z5tH L TERR
FBHIEDNTEFT, (SITYBLUIU—REFL)

B BB —E—RFTR. OFRROZBUTERERERY
O—J)LLET,

B S VE21—FE—RTE (xy) Fel& (r, 0) B 2TRRINK T,

W T, BEEREGEFNICEYXATI X EVYIICEIDHTSN
EED & Feld S ERUTRRERRLET

Y

@ PEY)

BEXER (Rec) AR (Pol)
37



ghifsRelly . BT (x, V) ZABEEAR (1, 0) [CRIBT BBAF. Ra) X
EHUTrOEERRL. Flehd SEMUT O DiEER

ENED
BEE— K s (1)
fl F—1RME Ep
R ety | (6 L () oy [l
\/3)7’:(7)_(1) @E] =2, 060
E— NTEEEZ(r, 0) X X
w#RDD — 2
= Y
60

ghifsfed,  FREEAR (1, B) ZEIZEAR (X, V) [L ST HIBAIFE Ry K
EHUT X DEZERR L. Flehd SEHL Ty DiEER

mLET,
SAVE—RBEL 2]
i F—1RE RT
R (=2, 6=60) | St fec 57 shift 5 | Rec(2, 60
FAUU—(E) TR X= 1
S I S| E [ Y= 1732050808
3 ' RcL| —X X
K% ! ;
-] Y
1.732050808
HEXHBESTE
ﬁ*f l\ Shift S% m
1 F—1BE R~
‘sin(ﬁO—S)x(—ﬂ)‘ (abs](sin] (6 ][0 ](—) ‘sin(éO—S)x(—ﬂ)‘
IO
gt 2 O)[=) 2.573442045
TEXRTETE
SAVE—R i Es (7]
il F—1BE KRR
1+200 = 5x103 (1)(=)(2)[0](0] | 1*200
@ 5x10°%
1+200
@ @ 5000x10®
Shift <eng 1+200
[ R ! e
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ERYETE ==

EXREREI (z=a+bi) RICFBEFLR (r £ 8) TERHERT C
ENTEERY, "a" [FREB. "bi" (FEEE (i & -1 DFFRAICE
ULVERERAL ). "1 [3HEXHE. "8 (FERMDRATY .

= ()

B [0 (2] 790 L C CPLX E— RICLTL &L,
W 27 U CRHERRERRL TSV,

BRI EER
EBRYFARICIFBEORTERADSHDET, ESZRLCTERNZE
BRUTLIEE W,

l:erse Zipa+bi
FLAra 4:Condd
SiReal Gilmas

B BEDAEEMRTE (Deg, Rad, Grad) 2F T v LTS,

B[] 70VE KNEBRBRDPEMECHDEZRLTVE
Io [£]11F. RNENMRAES THHILZRLTVET,

B EREUTUAAEUREEINTENET,

ERERR SRR R
SB[ =T & BEXERREREDBERER(CERINE T,
CB(2)EHY & MEFR R ERED EREEERICERINE T,

BEFE— K B (1)

1 F—1BME R~
3+4= BIH(A) S &y | s+airre
5/53.13010235 | (1 ][ =] 5/53.13010235
[2<45=1+i (2] 4 [4] |V2445=>a+bi
G 2E=) 1+
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B RADEE
EXEFEEEREDBE. mdF/cEESE)ICRo T WHT B
MHE (r) Feld R 0) ZEHRIT D ENTEFT,

SAVE—R (2]

il F—1BE £
HEEY = 6+8iDBA (6] 5 | Abs (6+8i)
HERHE () £1R (6)
7 (=) 10
© b & 3] (=] |As e

53.13010235

HIGERY

BRYD z=a+bi THDHA.

SAVE—R i Es (2]

COHREFRBF 7=a-bi LD ET,

B F—igE EZ5
3+4iDERIE 340 | (5[4 ) (3] (F](4]] conig (3+4i)
o OJ=) 43:
-41
KU EEROEE
HEPE—R ST 1)
1 F—RE R
Real & Imag 0% | (™™ [(5](2][3] & |Real(23254)
#1% 23<54 @ @ E] 13.5190608
O oe) (6] [=] |Imag(23454)
18.60739087
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nES RO REEE

W (d[4])7%# L C Base-n E— RICLTLEEL,

B 10 #5515 (base 10). 1655 (base 16). 2 #EE (base
2). 8iEEtE (base 8). MEBEENTAFI.

M Base-n ’Gﬂﬁlﬂ‘]@%%‘ﬁl’&%ﬁﬁé%ﬁ{& 510 ¥ [DEC]. %
16 i [HEX]. 252 3 [BIN]. 5 8 ¥ [OCT] %}aﬂbt<n

WS F—(CKo T, mﬁ@%’iﬁ? CENTEFRT, il E%[L
TaEE [and]. FRIBA] [or]. HHBEURIEA [xor]. HHEVFRIER]

AIE [xnorl. BE [Notl, 8% [Neg] B'oDF T,

W 2 EFCIS 8 ESEMRN B8 ZBR HBAIF. BEMRICK
DIOvIRB2DEZASB DD ICREARNRREINE T,
'B'k%éﬂ;_b‘fﬁ[j'éc‘: BEER IOV I ZITDRUCESDZEN
TE o

B NERZEMEERATEF T A, PHRPIEROMVZE> AT

TEFEA,

HEE—R 28R [1]

1l 1B RR
10101011+1100- |2 (DI (0] | 10101011+1100-15>
1001x101+10 [ERER[ES &N ENININ BIN
=10100001 S[EI I EEEN 1010 0001
(2EE—K) O)MMEOIE]
645+321-23x7:2 |5 [(61(4](5] 645+321-23x7+2 "
=1064 2=21E)x] ocT
(8EE—F) =2(=) 00000001064

:
(T7A6C+D9)XB+F "‘X- - (71506 )| (77A6C+D9)xB+F
?15;9,:; o o o0 HEX
ET— B F
cEoE= 00057C87
N EZEHE 5w O w1 mp Y
i F—1RE RN
12345+101=12446 |(1)(2](3])(4)(5] |12345+101 “
M=) B
HEX 12345+101
HEX
000309E
BIN 12345+101
| <BIK {17 BIN
1001 1110
oct 12345+101 .
ocT
00000030236
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AN
HEE— K e (1)

5l F—1RME £
789ABC Xnor (Z)[(8)(9) 5 = |789ABCxnor147258
147258 =] a(ER|TY| HEX

ﬂ@@-@ FFO31718

Ans 724 789ABC | [ans) (5 (2] (7] (8] |Ansor789ABC
s o= HEX
FFFBOFBF

Neg 789ABC &= (6] (7] (8] [@) |Neg(789ABC
DS o= HEX
FF876544

W (3] U CHREEIEE— RICLE Y. GHEOEETE "STAT
A VI =T UET )
W 2251 (Type) ZH L CEHBBEEBIRUE T,

] STETE 17 OEHXEU(0~9. A~D. M X & Y)ZERALT
F—5 EEER EHEREFEL TS,

HErEEEEER
HEDRED 8 EESH D F I, MEEEBROEEICAOTHS. &
SERY CECL O TREHEEDBEZERUE T,

i:20 Zzlin
SiEuad  4:iLog9
Si€ EHFP Giab EXP
TP Sz Inw

F—1RE REHRE
1(SD) 1 EROHE (x)
2 (Lin) 2%M. HMER (y=A+Bx)
3 (Quad) 2%MW. ZRER (y=A+Bx+Cx?)
4 (Log) 2%M. WUER (y=A+BInx)
5 (e EXP) 2FMW. E EHER (y=Ae™)
6 (ab EXP) 2T, ab EBER (y=AB")
7 (Pwr) 2FW. NEFER (y=Ax®)
8 (Inv) 2%M. MHER (y=A+B/x)
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HetT—5 AN
FEEOfEEEERIROEE CEREBEFER L /IcE. F/cld STAT
E—RT &(2) (Data) #8I &, ROK DIEHHETT—5 ANEE
MERRENE T,

by
I ﬁ| I i | . i | 5
3 El 3
1 78 STAT 2 Z8 STAT 1 Z8 STAT
"FREQ#>"

+ EIEROTY b7y TEETEEIEE FREQ" Z4 VICTd L.
FREQ O35 AN EREOBEEISEMENET .
© TREFT—IANDERAE T,

HratiER FREQ #>~ FREQ # 7
B—EH (X AH) 40 80
2EH(x &Yy AN) 26 40

BE T — I ANEACOANRERTRBRES S A VE1—FE—F

[CEDET (SAVE2—E—RICBIFSD Comp E—REA L),

c TIANNDE. E)EHTECKOT, 1578’:‘?'.:;HJ/7\9(J%
FUTRIVICE (B&KBH) ZRRULET. oo h—VIbF—
EWTEICKDT, %tlb@%ﬁ’@ﬁ—v»’&%’éﬂé‘e‘éztb‘
TEFY,

MDY IILT—5iRE

B EICHRT—IDANER
(1) MEFT—F AHDEE T, D—VIVERELLLWEILNEE)

TEFEY,
@) FHUWTF—FEXEXZANLTH S, E=ZHLET,

B {TOHI
(1) MEFT—F AHDBEE T, D—VILZHFRULCWTICEEE

BEI,
(2) PR LET,

W TOEA

(1 %ﬁ%‘r?—@lﬂ@@ﬁ'@ TZEANT DD D TICHDITIC
—VIVEBEEEET,

@) & “""‘ (Edit) ZHULE T,

(3) (J (Ins) Z/LFE T,

M STAT F—9 AHO=HIFR
(1) &5(3) (Edit) ZHULET,
(2) (2] (Del-A) ZiRELE T,
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gEtEEEE

B STAT F—97Z AN Ulct. [AZR U CREFETEBmEICAD &
ER

B B EEE COANEENIERRESA VE2—E—RICEDE
ER

BB A Z 1 —ZAVTHEHERZSHLUET. (S-SUM, S-VAR,
S-PTS. Reg)

HEtAZa—

BEF—IANEEE CIIMEHEEE C. B2/ U THET X
Za—ZRRULET,

1:T¥Pra  ZiData 1:T¥Pra  ZiData
SIEMit  41E-ZUM SIEMit  41E-ZUM
SI5-VAR BIE-PTE SI5-VAR BIE-PTE
TiDistr TiDistr S:Red
1 ZH STAT 2 &% STAT
STAT IHH A

[11Type AT EREOBE®EICAY £

[2] Data AT — R ANOEEICAY £

[3] Edit Edit ¥ 7XZ1—(IZA> T STAT REEEDAR
ERELETY

[4]S-SUM | S-SumH¥TXZ1— (HDFHHE) ICAWET

[61S-VAR |S-VarY7XZa1— (EHOHE) ICAVET

[6]1S-PTS |S-PTSHTXZa1—(HDHE)ICAVET

[7]Distr Distr # 7 X = 1 — ({REERA B DD THHERE)
ICAVEY

[8]Resg Reg ¥ 7 X Z1— (EIROHHE) ICAVET
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[41S-SUM, [5]S-VAR, [6]1S-PTS, [8]Reg IcH\} BifatatEiER

STAT

yox=y_| STAT i@ & 5 | #RME
S-SUM |1 &2 ZH STAT |2TD x* BOKM | 5 x2 |fws(7)[1)
2T O x EORH x|
2EH STAT D& |£TH y? EOHH Sy?o|e(4])(3)
27Oy EOHA Ty &)@
Xy N7 DM Zxy |#5(4)(5)
LTOXEOHA | 5 x° |2=(2])(6)
27O Xy A7ORA | 5 x2y |
2TO X RFORM| 5 x¢ |mmz)E)
SVAR |1 &2 ZH STAT |F—&¥> 7L n |25
X EOFH X [&sEE2)
X DRHEERE X0, |fe(5](3]
X DEAEERE X0, |25(5](4)
2 % STAT 0% |y BOF v |&=E)E]
y DRHZHERE Yo, |(5])(6)
y DIEAIEERE Yo .. |f(5])(7)
SPTS |1 &2 ZH STAT |X O&/ME minX | 226 (1)
X DEKfE maxX |&(6](2)
2 28 STAT O& | Y Of/ME minY |225(6)(3]
Y OF:AfE maxy |&®(6])(4)
Reg TRERUSAD | ElEFRE A A =81
58 EF %R B B |&(8)(2)
HERSREL r r[EEE
x DEFHEEE X |esEME
y DEFHEERE vy |[es8]E]
Reg ZREROHD |ENRFEL A A e[
5a EF %% B B &)
ElFF# C C &3
x1 OHETESE X1 &[]
X2 DHEENE X2 |(3](5)
y DHEENE y &3]0
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HrRstEtEHl

SD &4 T DFiEtEtEH
SD E—RICHWVWT. 7—% 75, 85,90, 77, 79 (Frea: #7) D
SXB, IX, N, X, X0, XO ., MIiNX, maxX D&

F—1RME KRR
(wooe] (3] 1350 Z:iLin
Zigusd  dilos
Eig EAP Giab ExP
TiPWr g Inu
(1] (sb)
|
3
OEEEEEE JE
N SvalvalSvaleale: &
=) B
(™ M= 28
33120
(ca) & (4J(2) (=] Ix
406
(e BHME n
5
(e 2= X
81.2
()= (B3EIE] xon
5528109984
(ca) & (8][4 (=] xon-1
6.180614856

ZIRERSY A T DR ETES
ABC #(& 30— MES N B Z AWV TILESZHOMRZHBD I
. ROT—F7ZNELE Uz,

IRERH X 18 35 40 21 19

Ry (%) 38 54 59 40 38
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[LEXHN X=30 £B62155a. BRZAVTHRZHEELERT (v
BOHEE). Ffc. BRDY = 60 £BBHBE. LEIHDOLANILZ
HELET (X', X2 EDHEE).

ey ®r
(wooe] [3] 1150 ZiLin
Ziguad dilos
Sie EXp sisb EWP
FiRWE  &1In
(3] (Quad) | i v |
i
OEEEEEME w .
OE@MOEOE ul "2 ug
E2e 0B3EE0E)E il
@E=EEEEME
=3E6EE=

s 30§
(ca)(3](0] eJ[=) 48.69615715

[ (3)(0] & (B)[a)=)| 5%
31.30538226

@) (5)00) &= (B)(s0=)| %

-167.1096731

b2kl avie i)

W &% fFE (SD) &fcld@fE (REG) E—RTHYIILT—5%
ABUle(c, EREREH P (0. Q (). R () OEZXDD
CENTERT, t FIERDHZIRELUICRHOEHTY, #Hist
BRNS t ZRHDEDTEXT,

X IERmNOES
\ t= Xxgxf X FE

a) Xon | EHEERE

P(t)——|

a7



B E8[7) 7z & DUTOEREENRRENET .

1: P(
3: R(

2: Q(
4:»t

B (M2JBJ[AZHT CECKROT. WELTDFEZERTEEXYT

P(t): FRERA > b (x) DF
DFER

Q(): FREARA > b (x) IF
THEHU EORESE

R(): FRERA > b (x) KLk
DR

S S
=

Bl B TILT—5 20, 43, 26, 46, 20. 43 Tx = 26 DIF
HEE (=1 & TOESDERDTDP () Z5EIT D,

*—1B{E b
EREDR o |

H
(2]lo] (=141 (3] (=) %
@e=MEe)= |§ 8
(2J(o](=] = |1
(2)(6] & (4] |26rt
=] -0.6236095645
e = P(Ans

0.26644
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HEEE

| U CHELSEEEICADE T,
B R/ Q=HTE, 7/ RDOR—ICBEUET,

.

1:2 unknown E&H ~ l:emiad  EGM

213 WRkhokn EGH ZiCubic EQM

Si4 unknown EQM AFEFO@ Ziduart EQN
Y

AEXER A

[112 unknow EQN | 2 DOFRMEEFFDET 1 RAERX

[2] 3 unknow EQN | 3 DOFRM#ZFDEL 1 RAER

[3]4 unknow EQN | 4 DOFRMEFZFFDEL 1 RAER

[4] Quad EQN SRAER

5] Cubic EQN =RAER

[6] Quartic EQN mRAER

iEIL 1 RAER

2 DRI EFF O 1 X558 :
ax + by =c
aX +by=c,

3 DR EFF O 1 151X :

aix+byy+ciz=d,
aX + by + cz=d,
ax + by +ciz=d;

A4 DOFRABUEFFDEIL 1 K51

aw +bx+ciy+diz=e
aw+bx+cy+dz=e,
azW + bax + cy + dsz =e;
aw +bx+cy+diz=ey
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Bl 1 3 DORHE ZR DI 1 RFERZfE< o

2x +4y -4z =20
2x -2y +4z=8
5x—2y—-2z=20

Key in operation Display
(5] (2] GonsFsmgn | LB 0
H 1] 1] 1]
3 1] 1] 1]
a
(2]=M)(=)=)E]E=) a ()
2)[0)(=] et
El 1] 1] 1]
a
2][==2)E=4=) A b
1 2 y -y
= et P
BECDEEE|, b, =, 9,
= [ P
za
= X=
1
2
= Y=
3
= z=
3
4
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251N, 3RAENFE 4 751X

2 RAER axt+bx+c=0 (B—%H (x) DBERFHE)
3xAER  ax®+bx2+cx +d =0 (ZRLEADHE)
485K ax* +bx®+cox2+dx+e=0

Bl xD=rHEXERLS B+ 2x2—2x+ 1 =0

F—1B1F KR

5102 i o °
(=RAHER)

DEAEODE], &, . mkm
D=

1
=] Xq=
-1
=] Xo= 3
77+0.331662479i
10
=] Xs=

3 .
10 -0.331662479i

VIV tsE
VIV T#BER. AERDEZ 21— b iEZER U GRELUETKD DHEE
<.
VL IHEEIECOMPE— RTOMERT 5T EDHIRET,
LIl L a8 U TR T S Dk et ORI DL TR
LTLET,
B ZYXEEOHER
VI THREE. BRI Xe+2x—2=0. X=Y+3, X—5=A+B.
X=tan (C) HEDHRRDEMX ERDBEICEALET.
.« Xe+Bx—24 EAPSNIAEAR. Xo+5x—24=0 & LTHEL
7.
"=0" OANISHETEBDE G A
W RERDDNFDOEHDIEE% . (HER | (B
EENELEAR, XICOVWTRBLET. YICOVWTKET D58
OAERIFY=X+5, Y EHEDET,
B VTR R BT B S EDEES
. VLT REE BT BEOSIERCHNT, LITOKEEERTES
Thue
f. % .= m Pol, Rec, Q-r Rand, i-Rand. M+,
M=, STOB UL BRILFRAF— kXA RDAS

51




 VIVIHEEEZ 2 — bUAZEER U THRZERDD 2D, EHODEN
BHBIBAFENSDADNTFNO—DDHHERE UTERREINE T,

o VIV IHEEF Z 2 — M AIC K DAL EZIT > TLD Iz, ko
TEWEHOIHBEIC K > TlE. BAUERE F(IRD SNIEVEEND
DFRT, BHKDESNEVEEE, KEBIROZEHOIEREIC, BRIC
BHoEBHEVNEBONIHFEASIUCBUFELE.

s JEEZBOEELTH. BRSO SNBEWVGEED DD FET. Z0DH
A, T4 ATIUAIC"Can’ tSolve " ERRINFE T,

« HERICHATENZSORMZERT 5aE. BUEIZEKL
FNWTLIZEL,

o FEADRBEVROEHZZATOEVEEE, " Variable
ERROR " &EXRENF T,

* Za— hUETRRDKX SEHERIREITEVEEDHDFT .
B) y=e* y= ,y=sin() , y=/x &&

- HIERDHEZRDDDICRVBBDUELES, T4 A TAIC
"PROCESSING " &EFRRENFET, stEZEF v EILLIEVGEE
& [ca) EMLET,

fil: X=-=% nB°CER<. (B=5; C=200&F)

Ermys =
(1) (comP £~ 1)
gy s s ()[F] (3] | x=5ne’e
Olml=Yaale £ 5
shift  Solve B?
[l 0
5= e
0
@ @ E] Solve for X
ERfE o]
= x=4-nefc
REHROBH X= [® 5235987756
A= 0

. BORBER, BZROEEHDBEZRNTHRERDODIEHID
SHERBROENZRRUICBDTY ., COENEOCRVE. K
SHIZEDREEIFBNT LICHEDET,

W ZPEEICDONT
VIV THREF B SH UHIEE LB ODESE ZRITUE T,
KEBTEEWEEIF. T« ATUA(C " Continue:[=] " EFRRE
nFEg.
StEEGIHTEVEAR(E)ZEL. 82T BILLIEVGES
[F[cA)ERLET .
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=, |
#ETE (HIVD) Kig
W 58 (HILD) #EETIF, BERESTREARN 79 ATV IETD
SAEXEFRTFIDCENTEFI ., NFDEMITHFEDBEZA
FBHIET, BERBREZRSDHIENTEFXT,
W SEXZEANLT ZHT L, XPOEHICH T DHIEA17Z
KODEEHRRENET,
W HEE (DILD) REZEATEDDIE. COMP E— R&EClE
CPLX E— ROHTY .
Bl : 512 Y=5x2 — 2x+1 T. x=5 Ffcld x=7 DIFAD Y DIE
HEHET D,
SAYE—K : i 25 (7]
F—iRtE EZ
(1) compP 1) 0
S SEIMS Y=5X2-2X+1
HEIes S 0
5= Y=5X2-2X+1 16
= Y=5X2-2X+1

V HUWVEEZRIBUIZD. fIDE— RICLED. StEHOERZ
F7ICTDE RESNTVDHKFIUTEINET .

MaEtHR
B 55 BECOMPE— RTORABTEET.
B WHEEEITS eI, UTORTREAN LT ZEL,
&£ f(x)Eo a o A X D) KERXESALREAS
*f(x) ¢ X DEIKE (X LA DERIFER E L TRONET)
g [FA T,
CAXFE X DEEXBTY GHEBE) (54 VE—RDH)
Bl - BIEL f()=sin(3x + 30) [CAALT. mx. &Ax=10"8 TOEEE
HERDD.
AHEOWDFREROENEICEDE, HWHFBORLEEETS
BECLTLET,
SAVE—R @i 2)

232

F—iRtE EZ)
(1] (comP £—K) 0
ende, (n) (3] 25 3 d/dx(sin(3X+30)>

B0 & SOl
& & (el (81 ]

=] 0.02617993878
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WAXTIFA X ZA TENTE, FEENEENICA X (TEZ
KALFT,

A X DBERNEWVEE, BEERDERCLDE TN, HEEE
BFR<NNDFET. —H. AXDHEHAZTVNEE, BHEER
DHEENARIERICEDFTH, BEBEFRIEDET,
PTFORRICED IZ—H UL FARERCERBBRIEET D&
N&HHERT.

s EFTER. BIBICEET D x DI, ZH x [CEHR. MORaT8E
HRPEERBRDPODEISEVIBEERE,
E%Fﬁ?ﬁl’f?ﬁﬂﬁ%%%ﬁﬁ%ﬁlll;\ BEBNBRECIITY
(Rad) Z&@RLTLfEE

Logab. i-Rand. Rec. Pol BEMOEICINA DI EFTE
Ft Ao

[CA)EWT CETEBEEF v LT DT ENTEET,

= = =
BEOEtE
B BHEEIFCOMPE— RTOHFIFATEHT.
B ENFTEZETIEHICE. UTOETRZAALTLEEW
f(x) Eo alo b (on DI EHxESARLREAS

o () - x DB (X INDZEHIFTTER S L TRDNET)

<'at &Y FERDDBRIEEERELF T,

NFI =T 4 V3 VHTT (N = 2" (THHY) . (51 VE—RDH)
B AHOBDFY Y TV VDRAICEDVHBERD E LD FE D,
BWHHNMER DL, NEREDSTEISERICHEN/D DD LD D
DET, BAICKOTIE, FHEORTFICEVEEANHDICEHHD
DOoT. STEBERDBEMEVEEDHDFET., FICTEDHIH 1 X
ADHZAICIE. ERRORDFEET D ENHDET,
il i n=4 EUT. UITOENFEZITD.

L7 5x 3¢+ 2x + 1)dx

SAVE—R: i Es (7]

F—1BME E-ZH
(woog (1) (COMP E—K) 0
(E9(5] e ) () )
H 3 o 2] J(5XA(4)+3X2+2XD
Alyha x-@ shift 3 @ 236
s s@DE
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BORTRINZA<ENTE, STEEDEENIC N [CEZRAL

ESCIN

=AENTRISEZTOIBAICIE. BERURETCSIIT Y

(Rad) &ZERLTLEEL),

Logab. i-Rand. Rec. Pol B#Zz&EDst&ICIMA S LIFTE

Ftheo

NOBANEVEE, BEERERDERICEDEITH, BERHE

FRLDDDFET, —7H. N OHEHKREVIFE, BEER

BNAERCEDFEITD, BEREIFELEDET,

BOFRMHNHICB T, KBUENET U CULEoFEEIS—
(Time Out) BEET DT ENHDET,

| [cAlZ9 C & TREEF v RILT BT ENTEET,

1Tt E

W (o (7] 7238 U T THEH EE— RICLE T,

B T EZRBT HR1IC. 1 DS 4 DI TDITH (&FlE AL B,
C. D) ZER L TLIEE W, 1THIFERA4A X 4TT,

W ATAEERERE. BEMIC [MatAns] EWSTFIEHEEADX
EUILREFEENET. 175 [MatAns] XEUZANT. £TIT
EBZETS LD TERXT,

1I5IZERR T B

W (o (7] 7238 U AT B E— RICLET,

Hatriz?

l:iMatA  Z:Mate
FiMats  d:matD

B [AEEZHET S, MATXEIBE— REFTVET, A/QERT
&L B/ RDR=I(CEEBLE T,
ii0im_  Z:Data -—) 1:Det  ZiTrh

ZiMath  4:1MatE SFilde  4:Add
SiMatc E:Math | AFCE® | 51 Inv

TiMatAns ez i
MATX IEH B
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Important Precautions Before Use

+ Before using the product, please read this manual
carefully. And keep it on hand for future reference.

How to Use the Slide Cover

Open or close the cover by sliding
as shown in the figure.

Display

B M STORCL STATCPLXMATX VCTREQN BIR(E FIXSCI LINE AV Disp
o -rr e

IR i . I
sinl g ) +i2

SdE
==
Fa
<Status Indicators>
: Shift key
:Alpha key
M :Independent Memory

STO : Store Memory

RCL :Recall Memory

STAT  :1-Var & 2-Var Statistics Mode
CPLX :Complex Number Calculation Mode
MATX  :Matrix Calculation Mode

VCTR :Vector Calculation Mode

EQN  :Equation Calculation Mode

[D] :Degree Mode
:Radian Mode

: Gradient Mode

FIX : Fixed-decimal Setting

SCI : Scientific Notation

LINE :Line Display Mode

A :Up Arrow

v :Down Arrow

Disp : Multi-statements Display
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Getting Started

Power On, Off

B First time operation:
1. Remove the battery insulation tab to load the battery.

2. Press [on] &% ¢ 37 [=) to initialize the

calculator.

Power ON: When is pressed.
Power OFF: & 9 are pressed.

B Auto Power off Function:
When the calculator is not used for approximately 7
minutes, it will automatically power off.

Display Contrast Adjustment

B Press ™ % © (6] (6: 4CONT p), to enter the
Display Contrast Adjustment screen.

COMTRAST
LIGHT DARK
[L41] [ |

Press ® to darken the display contrast.
Press ) to lighten the display contrast.
Press or to confirm and clear the screen.

B To initialize the LCD contrast, press (% “3EIE=E)
outside the Display Contrast Adjustment screen.

Mode Selection

W Press to enter the Calculation Mode Selection
screen.

1:COMP ZiCPLA
SiETAT 4:iBASE
SIEEM E:TRELE
TiMATHE SiWCTR




Operation Mode Incll-ige?tor
1] COMP | Normal calculations

2] CPLX | Complex number calculation | CPLX

50 Jowr s e Jow

@ BASE Sfﬁgﬁti;;yn‘l;eim/:lving specific

5] EQN Equation solution EQN

6] TABLE | Function table generation

MATX | Matrix calculations MATX
VCTR | Vector calculations VCTR

W The default mode is COMP mode.

Application Function Menu (Apps Key) ()

The Apps menu contains mathematical functions. In each

Calculation Mode, the listed functions are different.

B Press and corresponding number to enter the calculation
mode.

B Press [Apﬁ to enter the Apps menu.

B Press () / ® for next/ previous pages.

i) COMP Mode ii) CPLX Mode
it 212 liprdd  Ziwatbi
SiMax dimin B 4iConda
S Gt &1 Mo SiR=al G6ilmas
TiLCH S GO

iii) STAT Mode
1:T»pe ZiData 1:Txpe ZibData
SiEdit  d4is-3ZUM SIEdit 41 E-3UM
SIE-VAR BIE-PTE SIE-VAR EIEZ-PTE
TiDiste TiDistr SiRes

In SD mode In REG mode

iv) BASE Mode

v A
1z and Eror <) 1:d Zih
Gixor dzxhnar | Press[ @] Sth 4:0

SiMot BiMes or[(®] key
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v) EQN Mode

v A
112 unkhown EGM | 4 | i:ouad  EQH
215 URKROHN EBN | press[ @) | 2fCUbLC EGM
Fid unknoWn B8N | o ®)jkey | F1RUANT EGM

vi) MATX Mode

v
1:0dim Zibhata <) 1:Det Z2iTrn
g:ma%g g:ma%g Press [ @) St Ice EH N
SiHathns or[@key | B3 1M

vii) VCTR Mode

1:0dm Zihata
SiMCtA 4iVCtE
SIvotC Eivoth
TiMotAns SiDot

Apps  Apps

B Press ) () to exit the Apps menu.

Calculator Set-up Menu

Shift 2
B Press L) L to enter the Calculator Set-up Menu;
press &/ @ for next / previous page.

v 'S
l:Maths ZiLin= ” 1rabsc Zidsc
Zi1Des  4:Rad FICPLE  41STAT
S:5ra  B:iFix Press[D] [ E:Dizp  E:4COMTE
Fraci S Morm or [®)] key

B To select the calculator input & output format [1] Maths
or [2] Line
[1] Maths — (Mathematics mode):

L T Mathematics mode
The majority of calculation input
and output (e.g. Fraction, pi, "35_11
square root number) are shown in g

Mathematics textbook format.

[2] Line — (Line mode): The majority Line mode

of calculation input and output are TR ,0a-11
shown in the line format. The

“LINE” icon will be shown. 1. 224744871

For the STAT, EQN, MATX, VCTR mode, the Input & Display
format will switch to Line mode automatically.
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H To select the angle unit [3] Deg, [4] Rad or [5] Gra
[3] Deg: Angle unit in Degree
[4] Rad: Angle unit in Radian
[5] Gra: Angle unit in Gradient

90° =7radians = 100grads

W To select display digit or notation [6] Fix, [7] Sci or
[8] Norm
[6] Fix: Fixed Decimal, [Fix 0~97] appears, specify the
number of decimal places by pressing [0] — [9].
Example: 220 +7 =31.4286 (FIX 4)
=31.43 (FIX2)

[7] Sci: Scientific Notation, [Sci 0~97?] appears, specify

the number of significant digits by pressing [0] — [9].

Example: 220 +7 = 3.1429x10" (SCI 5)
=3.143x10" (SCl 4)

[8] Norm: Exponential Notation, [Norm 1~2?] appears,
specify the exponential notation format by pressing [1]
or[2].

Norm 1: Exponential notation is automatically used for
integer values with more than 10 digits and decimal
values with more than TWO decimal points.

Norm 2: Exponential notation is automatically used for
integer values with more than 10 digits and decimal
values with more than NINE decimal places.

Example: 1+ 1000 = 1x10-3 (Norm 1)
=0.001 (Norm 2)

B To select the fraction format [1] a b/c or [2] d/c
[1] a bic: specify Mixed fraction display
[2] d/c: specify Improper fraction display

B To select the complex number display format [3]
CLPX ([1] a+bi or [2] r<s)
[1] a+bi: specify Rectangular Coordinates
[2] r<6 : specify Polar Coordinates
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B To select the statistical display format [4] STAT
([1] ON or [2] OFF)
[1] ON: Show FREQ (Frequency) Column in Statistical
Data Input Screen
[2] OFF: Hide FREQ (Frequency) Column in Statistical
Data Input Screen

B To select the decimal point display format [5] Disp
([1] Dot or [2] Comma)
[1] Dot: specify dot format for Decimal point result display
[2] Comma: specify comma format for Decimal point
result display

B To Adjust Display contrast [6] © CONT ®
Refer to the “Display Contrast Adjustment” section.

Before Using the Calculator

B Check the current Calculation Mode

Be sure to check the status indicators that indicate the
current calculation mode (COMP, STAT, TABLE), display
formats setting, and angle unit setting (Deg, Rad, Gra).

B Return to initial setup

Press & % (1] (=] (YES) to return the initial
calculator setup:

Calculation mode : COMP
Input/Output Format : Maths
Angle unit : Deg
Display Digits :Norm 1
Fraction Display Format 1d/ic
Statistical Data Input : OFF
Decimal Point format : Dot

This action will not clear the variable memories.

N Initialize the calculator

When you are not sure of the current calculator setting, you
are recommended to initialize the calculator (resets
calculation mode to "COMP", angle unit to "Degree", clears
replay and variable memories, and resets LCD contrast) by
performing the following key operations:

gty S8 3 (All) (=] (YES) [cA).
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Inputting Expressions and Values

Input Capacity

F-789SGA allows you to input a single calculation with up to 99
bytes. Normally, one byte is used each time you press one of
the numeric keys, arithmetic keys, scientific function keys or

. Some functions require 4 — 13bytes. ™%, 7%, and the
direction keys will not use up any bytes.
When the remaining input capacity is less than 10bytes, the
input cursor will change from “1 ” to “ B” signaling that the
memory is running now.

Input Editing

B New Input begins on the left of display. When the input data
is more than 15 characters (Line Mode) / 16 characters
(Math mode), the line will scroll to the right consecutively.
You can scroll back to the left by using and O to review
the input.

B In Line mode, press 3 to let the cursor jump to the
beginning of input, press@ to jump to the end.

B In Mathematics mode, press Qo let the cursor jump to the
beginning of input when it is at the end of the input
calculation. Or press ©to let the cursor jump to the end of
input when it is at the beginning of the input calculation.

B Omit the multiplication sign and final close parenthesis.

Example: 2 x log 100 x (1+3) = 16

Operation 1: Display 1
Including [ X ]*1, (213X ) (D@ ()X | 2xlog(100) x (1+3)
*2

*1
OOHEE 16
3

Operation 2: Display 2
Omitting [ X ]*1, |(2)0es) (0 (001 OICOT] | 2log(100)(1+3)
*3 HEIE

16

*1. Omit multiplication sign (x)
- Input before an open parentheses _( J: 1 x (2+3)
- Input before scientific functions that includes parentheses:
2 x cos(30) cand
- Input before Random number function T2
- Input before Variable (A, B, C, D, X, Y, M), T, 6

75



*2. Scientific functions come with the open parenthesis.
Example: sin(, cos(, Pol(, LCM(.... You need to input the
argument and the close parenthe3|s

*3. Omit the last close parenthesis before the (=], (m+], =,

:'] and ¢

M Insert and Overwrite Input mode
In Line mode, you can use INSERT ', or overwrite mode for
inputting.
- In Insert mode (Default input mode), the cursor is a
vertical flashing line “ 1" for |nsert|ng a new character.
- In Overwrite mode, press &‘1 T key to switch the cursor
to a flashing horizontal “ _ " and replace the character at
the current cursor position.

In Mathematics mode, you can only use the Insert mode.

Whenever the display format changes from Line mode to
Mathematics mode, it will automatically switch to the Insert mode.

B Deleting and Correcting an Expression
In Insert mode: Move the cursor to the right of the character or
function that needs to be deleted, then press

In Overwrite mode: Move the cursor under the character or
function being deleted, then press [DEL].

Example: 1234567 + 889900
(1) Replace an entry (1234567 —1234560)

Mode Setting Key In operation | Display (input Line only)
Method 1: Line/Maths |1234567 889900 | 12345671+889900
mode - Insert mode © 7times

(0] 12345601+889900
Method 2: Line mode - &"‘] = (2] 1234567+889900_
Overwrite mode 1234567 889900

Shift Insert

@ 8 times 1234567+889900

(0] 1234560+889900

(2) Deletion (1234567 —134567)

Method 1: Line/Maths | (<) 12times 12|34567+889900
mode - Insert mode 1/34567+889900
Method 2: Line mode - | Shift, "ot 1234567+889900_
Overwrite mode «© 13times 1234567+889900

134567+889900
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(3) Insertion (889900 — 2889900)

Line/Maths mode - ) 6times 1234567+|889900
Insert mode (2] 1234567+2(889900

Inputting and Display Result in Mathematics Mode

B In Mathematic Mode, the input and display result of
fraction or certain functions (log, X%, X%, X", vm , ¥m V&, x ™,
10" e" Abs) is shown in Handwriting/Mathematics
format.

MATHEMATICS MODE: & &%

Example Key in operation Display
‘[_i (e (%) (3] © (2| }5-4
V2 (2] (2) (=) NERNG)
NOTE

(1) Some input expressions cause the height of a
calculation expression to be greater than one display
screen. Maximum input capacity: 2 display screens
(31 dots x 2).

(2) Calculator memory limits how many functions or
parentheses can be input in any single expression. In
this case, divide the expression into multiple parts
and calculate separately.

(3) If part of the expression you input is cut off after
calculation and in the result display screen, you can
press (O or O to view the full expression.

Input Range and Error Messages

Calculation Precision, Input Range

Number of Digits for | Up to 18 digits
Internal Calculation

Precision +1 at the 10th digit for a single calculation.
+1 at the least significant for exponential
display

Calculation Range +1 x 1079 to +9.999999999 x 10% or 0
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B Function Calculation Input Ranges

Functions Input Range
DEG |0<|x| <9x10°
sinx RAD [0= x| <157 079 632.7
GRA [0<[x| <1x10™
DEG [0<|x| <9x10?
COSX RAD [0=|x| <157 079 632.7
GRA [0<[x| <1x10™
DEG |Same as sinx, except when [x| =(2n-1)x90
tanx RAD [Same as sinx, except when |x| =(2n-1)x mt/2
GRA | Same as sinx, except when [x| =(2n-1)x100
UL PPINP
cos™'x
tan-x 0 = x| £9.999 999 999x10%°
sinhx
coshx 0= |x|< 230 258 509 2
sinh'x 0 = x| £4.999 999 999x10%°
cosh'x 1< x £4.999 999 999x10%°
tanhx 0 < |x] £9.999 999 999x10%°
tanh™'x 0 = x| £9.999 999 999x10'
logx/Inx | 0< x = 9.999 999 999x10%°
10% -9.999 999 999 x10% < x < 99.999 999 99
ex -9.999 999 999 x10% < x < 230.258 509 2
Vx 0=x <1x10'®
x2 |x|<1x10%°
x3 x| € 2.154 434 69x10%
x! |x|<1x107° x = 0
3Vx |x|<1x10100
x! 0=x <69 (xis an integer)
nPr 0<n<1x10", 0<r<n (n,rare integers)
1< {nY((n-r)1} < 1x101%°
ncr 0=n<1x10", 0= r<n (nrare integers)
1<nYrl < 1x10'% or 1 < nlf(n-r)! < 1x10'%°




Functions

Input Range

Pol(x,y)

IXL.lyl < 9.999 999 999x10%
JxPHy? £9.999 999 999x10°°

Rec(r,0)

0 < r £ 9.999 999 999x10%°
6 : Same as sinx

orn

«orm

lal,b,c <1x10%°

0=Zb,c

The display seconds value is subject to an error of
+/-1 at the second decimal place

[x|<1x10100
Deciaml ++ Sexagesimal Conversions
0°0'0" < |x| £9999999°59'59"

")

x>0: -1x10'%° < ylog x < 100

x=0: y>0

x<0: y=n,m/(2n+1) (m,n are integers)
However: -1x10'%<ylog|x|<100

x\/y

y>0: x#0, —1x10"%°<1/x logy<100
y=0:x>0

y<0:x=2n+1,(2n+1)/m (m#0;m,n are integers)

ablc

Total of integer, numerator, and denominator must be
10 digits or less (including division marks).

i~Rand(a,b)

0=a<1x10", 0 £b<1x10' (a,b should be positive

integers or 0)

Rand

Result generates a 3 digits pseudo random
number(0.000~0.999)

LCM(x,y,z)

0<x, y, z < 9.999 999 999x10" (positive integers)
Default result when x, y, z=0

GCD(x,y,z)

0<x, y, < 9.999 999 999x10"2 (positive integers)
Default result when x, y, z=0

Q...r(x,y)

0<x,y £9.999 999 999x10'2 (positive integers)
0=Q=999 999 9999, 0 <r 2999 999 9999 (Q,r are
integers)

Default result when x=0




Functions Input Range

0<x,y| < 9.999999999x102

Mod(xy)
Default result=x when y=0
[x|<1x101%°
Single-variable
IFREQl<1x1 (100
[x]<1x10100

Paired-variable | |y|<1x101%°

IFREQI<{ 110100

ABS [ |x|<1x10%

Pfact X £ 9999999999 (positive integers)

Positive: 0~0111 1111 1111 1111 1111 1111 1111 1111
BIN Negative: 1000 0000 0000 0000 0000 0000 0000 0000~
11111111 1111 1111111 111 111 111

Positive: 0~2147483647

DEC
Negative: -2147483648~-1

ocT Positive: 0~177 7777 7777
Negative: 200 0000 0000~377 7777 7777
Positive: 0~7FFF FFFF

HEX

Negative: 8000 0000~FFFF FFFF

Y. (ftx).a, b) | aand b are integers in the range of —1 * 10M0 < a<h <1 « 10M0.

[1(fx).a, b) | aand b are integers in the range of —1 « 10M0 < a<h <1 « 100.

« Errors are cumulative in the case of consecutive
calculations, this is also true as internal consecutive
calculation are performed in the case of A(xY), Ny, &/, x!,
nPr, nCr, etc. and may become large.

W Display of results using v~
Calculation results may be displayed using v in all of the
following cases:
1. When intermediate and final calculation results are
displayed in the following form:
0<sa<100, 1=d <100
:ﬂ:d—\/g 0<b<1000, I=e<1000
¢« lsc<100, 1= /<100

2. When the number of terms in the intermediate and final
calculation result involving v is one or two.
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Order of Operations

This calculator will automatically determine the operation
priority of each individual command as follows:-

1st Priority | Recall memory (A, B, C, D, E, F, 0-9), Rand
2nd Calculation within parentheses ( ).

3rd Function with parenthesis that request the input
argument to the right Pol(, Rec(, d/dx, /dx, P(, Q(, R(,
Det(, Trn(, Ide(, Adj(, Inv(, Arg(, Conjg(, Real(, Imag(,
sin(, cos(, tan(, sin~'(, cos™(, tan™'(, sinh(, cosh(,
tanh(, sinh(, cosh~"(, tanh~(, log(, In(, e"(, 10°(,v(,
3/7(, Abs(, ROUND(, LCM(, GCD(, Q...r(, i~Rand(,
4th Functions that come after the input value preceded by

values, powers, power roots:
X2, %3, x71, X1, 7, 1, g, N, W(, Percent %, log,b, EXP,

»t

5th Fractions: a b/c, d/c

6th Prefix symbol: (—) (negative sign), base-n symbols
(d, h, b, 0, Neg, Not)

7th Statistical estimated value calculation: X, y, X1, X2

Metric conversion commands (cm — in, etc)

8th Multiplication where sign is omitted: Multiplication sign
omitted immediately before wt, e, variables (2rt, 5A, T A,
etc.), functions with parentheses (2v7(3), Asin(30), etc.)

9th Permutations, combinations: nPr, nCr

Complex number polar coordinate symbol (<)

10th Dot: «

11th Multiplication and division: x  +

12th Addition and subtraction: + —

13th Logical AND (and)

14th Logical OR, XOR, XNOR (or, xor, xnor)

15th Calculation ending instruction: =, M+, M- STO (store

memory), »r<6, » a+bi




B In the same precedence level, calculations are performed
from left to right.

B Operations enclosed within parentheses are performed first.
When a calculation contains an argument that is a negative
number, the negative number must be enclosed within the
parentheses.

Example:
(= (2] =] —22=—4
=200 E] (27 =4

B When same priority commands are mixed into one
calculation:

Example 1:
((E[2) ™ &5 (=] 1+2m=0.1591549431
Example 2:
(2] ™ & (o 25A
MEE® 2= 1+24=1

Calculation Stacks

B This calculator uses memory areas, called “stacks”, to
temporarily store numeric value (numbers) commands (+, —,
x...) and functions according to their precedence during
calculations.

B The numeric stack has 10 levels and the command stack has
128 levels. A stack error [Stack ERROR] occurs whenever
you try to perform a calculation that exceeds the capacity of
stacks.

M Calculations are performed in sequence according to “Order
of Operations”. After the calculation is performed, the stored
stack values will be released.

Error Messages and Error Locator

The calculator is locked up when an error message is shown on

the display indicating the cause of the error.

B Press to clear the error message, then return to the
initial display of the latest mode.

B Press <) or (3 to display the input expression with the
cursor positioned next to the error.

M Press to clear the error message, replay memory history
and return to the initial display of the latest mode.
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Error Message

Cause

Action

Math ERROR « The intermediate or final « Check the input values and
result is outside the make sure they are all
allowable calculation range. within the allowable

« An attempt to perform a ranges, Pay special
calculation using a value attention to values in any
that exceeds the allowable using memory areas
input range.

« An attempt to perform an
illogical operation (division
by zero, etc.)

Stack ERROR « The capacity of the numeric | + Simplify the calculation.

stack or operator stack is
exceeded.

« Divide the calculation into
two or more separate
parts.

Syntax ERROR

+ An attempt to perform an
illegal mathematical
operation.

« Press () or (O to display
the cursor at the location
of the error, make
appropriate corrections

Insufficient « The calculation result of « Narrow the table
MEM Function Table mode calculation range by
parameters caused more changing the start, end,
than 30 x-values to be and step values, and try
generated for a table again.
Dimension * The dimension (row - Press (© or D to display
ERROR column) is over. the location of the cause of
(only in Matrix | * An attempt to perform an an error and make
or Vector) illegal matrix/vector required corrections.
operation.
Can’t Solve + The calculator could not « Check for errors in the
ERROR obtain a solution. equation that you input.
(only in SOLVE « Input a value for the
function) solution variable that is
close to the expected
solution and try again.
Variable « Equation is not a correct - Correct the equation to
ERROR equation. include variable X.
(only in SOLVE | - Equation does not include « Correct the equation to
function) variable X. match the solution variable
+ The solution variable is not and expression.
similar to the specified (refer to P.49)
variable in the expression.
Time Out * The calculation ends « Revise the ending condition
ERROR without the ending condition and try again.
(only in being fulfilled. (refer P.51-52)
Differential or
integration
Calculations
Argument . . i
ERROR Improper use of an Press (©) or(3) to display

argument.

the location of the cause of
an error and make required
corrections.




Basic Calculations

B Press (1] to enter COMP mode.

B As the calculation is busy processing, the calculator
shows the message [PROCESSING] (without any
calculation result). Press key to interrupt the
calculating operation.

Arithmetic Calculations =EXE

< To calculate the negative values (exclude the negative
exponent) enclose then within the parentheses.

< This calculator supports 99 levels of parenthetical
expression.

MATHEMATICS MODE: & ¥4 (1]

Example Key in operation Display
(257 OEDEI6E] [,
=) )
@xioe2x (4] (5] (X] | 4e75x
1079 [z 4
=] 1250
Memory Calculations (Ans) 5 [m+]) 1 £25[Ret]

Memory Variables

* There are 19 memory variables (0 — 9, A—F, M, X and
Y), which store data, results, or dedicated values.
« In Statistical Calculation, store data, result, or dedicated values

into memory variables 0-9, A-D, M, X and Y (except E and F).

+ Store values into memory by pressing % %5 + Memory

variable.

* Recall memory values by pressing + Memory
variable.

+ Memory content can be cleared by pressing (0]
+ Memory variable.

shift sTo

84



Example: 23 + 7 A (30 store into A), calculate 2 sinA
and clear memory A.

MATHEMATICS MODE: & £ 1]

Example Key in operation Display
2e7>a [[2](3) () (7] &5 287+
5 B 30

2xsinA=1 (2] Gn) &5 & (=) | 2sinA

Clear memory |[0) (i s A 0—>A

Independent Memory

* Independent memory ™ uses the same memory area
as variable M. It is convenient for calculating cumulative
totals by pressing (m+) (add to memory) or “—(subtract
from memory).

« Memory contents are retained even when the calculator
is powered off.

. Colear independent memory (M) by pressing (0] %

[ o)
+ Clear all memory values by pressing & ¢ 2(MCL)

(=] (ca).

Answer Memory

« The input values or the most recent calculation result will
be automatlcally stored into Answer memory whenever
you press(=], " [= ] [Me], £y, (5 325 Answer
memory can hold upto 18 dlglts

« Recall and use the latest stored Answer memory by
pressing .

* Answer memory is not updated when an error operation
has been performed.

« Answer memory contents can be maintained even after
pressing(CcA], changing the calculation mode, or turning
off the calculator.

Example Key in operation Display
123 +456 M+ | [1](2]) (3] [+ (4] | Ans?
Ans?=335241 | (5]( 6] =) 335241

789900 — Ans = (9](9]( 0] | 789900-Ans
454,659 (0)[=) (=) 454659
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The calculator supports Fraction calculation and the
conversions between Fraction, Decimal point, Mixed fraction
and Improper fraction.

« Specify the fraction calculation result display format by
selectmg either mixed fraction (=& ) or improper fraction
(&) in set-up menu.

« At the default setting, fractions are displayed as improper
fractions (& ).

« Mixed Fraction display results are only available after
selecting (=& ) in the setup menu.

Fraction Calculations

Improper Fraction Mixed Fraction
(d/c) (a blc)
11 2
Maths Mode 3 3§
Line Mode 11_13 3_2_|3

B Press to switch a calculation result between fraction and
decimal format.

B Press & “=* to switch a calculation result between
improper fractlon and mixed fraction format.

B Results will be displayed in decimal format automatically
whenever the total digits of a fractional value (integer +
numerator + denominator + separator marks) exceeds 10.

B When a fraction calculation is mixed with decimal values, the
result will be displayed in decimal format.

Fraction «— Decimal point conversion

MATHEMATICS MODE: & &4 (1)
Example Key in operation Display
shift =g
1148-7 M E O [11.8
2o -@- 7
(6](=) 3
%92.333333333 1%+%
(Fraction = Decimal) 2.333333333
2333333333 > 23| &1 T4 1142
(Decimal += Mixed
Fraction) 2




Display Values Exchange

B In Maths mode, press to change the calculation result
value between fraction form <+ Decimal form, T form <
Decimal form, v form <> Decimal form.

B In Line mode, press

to ONLY change the calculation

result value between fraction form < Decimal form, the other
7 and V calculation will display the decimal value only.

LINE MODE: & =% 3]

Example Key in operation Display
§+z = % - 2666666667 | (2] (3] 2.3+2
(2](=] 813
2,3+2

2.666666667

MATHEMATICS MODE:

s sevor
=5 (1

Example Key in operation Display
Z+2=§=2.666666667 @@ @ g+2
3 3 3 8
2])(=] 3
2
F1+2
3" 2666666667
e (3100](=] tan(30 5
=0.5773502692 3
tan(30
0.5773502692
weesgn & & HEIE | |
=0.3926990817 8"
78
0.3926990817

NOTE:

+ In some Calculation results, pressing will not convert the

display value.

» Some display result conversions may take a long time.




Percentage Calculations

MATHEMATICS MODE: & %

DBE

Example Key in operation Display
To calculate 25% of (2](0] [27]]820x25%
820 5 &5 =) 205
The percentage of (5)(0)(=])(1]|750+1250%
750 against 1250 |[2 (5[0 & 2
(=] 60
Degree-Minutes-Seconds Calculations

Use the degrees (hours), minutes and seconds key to
perform a sexagesimal (base-60 notational system)
calculation or convert the sexagesimal value into decimal

value.

Degree-Minutes-Seconds < Decimal points
MATHEMATICS MODE: ™ &%

Example Key in operation Display
86°37'34.2'+0.7=  |[(8J(6](+(3](7]|8e°37°34.2°+07
123°45%6" +3J04]2]

(=JoJ+]
(=] 123°45'6”
123°456” ~ 1237516667 86°37°34.2°+0.7
1237516667
23456 » 202044.16" |2+ J(3])(4])(5]|2.3456
(el(=]F 2920'44.16”
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Replay & Multi-statements

B Replay Memory Function

Replay memory is only available in COMP mode.

After the calculation is executed, the calculation input and
result will be stored in the replay memory automatically.
Pressing (&) (or @) ) can replay the performed calculation
input and result history.

After obtaining the calculation result on the display,

press (O or 3 to edit the input expression of that result.

If the D> Indicator is on the right side of a calculation result
display, you need to press{cA]and then (© or (® to scroll

through the calculation.

Replay memory is cleared when you:

1. Initialize calculator setting by &™) %2 [3][=)
2. Change from one calculation mode or display mode to

another.

3. Press key.

shift OFF

4. Press .0 0

to power off the machine.

B Multi-statements Function

* Use a colon —

together.

to put two or more calculation expressions

« The first executed statement will have “Disp” indicator; and
the “Disp” icon will disappear after the last statement is

executed.

MATHEMATICS MODE: &% &5

Example Key in operation Display
1x12=12 Alpha .
pda=12 (0 () [0 (20 25 | 1x12:2+2)
using a multi-statement = (2] (5]
A Disp
= 1x12
12
= 2+25
27
Replay the previous @
calculation history 1x12
(1x12=12) 12
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Constant Value Calculations

Shift GAE
o,

F-789SGA has total of 79 built-in constant values, you can enter

Shift CYALE

(or exit) the constant value selection menu by pressing &5 55 ,
the following display will be shown:

Input  1=79
«4mp  mn

me mu aop

00

pressing ® or (V).

underlined constant symbol.

press(=].

« You can go to the next or previous value selection pages by

« To select a constant value simply press () or (3 . The
selection cursor will shift left or right to underline a constant
symbol and the lower line display will show the value of the

« The underlined constant symbol will be selected as you
« You can instantly get the constant value if you input the

constant value item number and press (=] when the
selection cursor is underlining 0 0.

Key in Operation Display
Ghift el (menu selection page) Input  1—79 00
4mP mn me mu aop
ERERE) ql
GIEIE= g+35
44.80665
E=EE=Ex]E0E) Ansx50

2240.3325




Constant Table

NO. Constant Symbol Value Unit
1. | Proton mass mp | 1.672621777x10%7 kg
2. [Neutron mass m, | 1.674927351 x1027 kg
3. | Electron mass me | 9.10938291x10! kg
4. | Muon mass m, | 1.883531475x1028 kg
5. |Bohrradiuso / 47R oo ag | 0.52917721092x10710 m
6. | Planck constant h | 6.62606957 x10"%* Js
7. | Nuclear magneton e 17 2mp, HUN |5.05078353 x10°%7 JTt
8. |Bohr magneton e /2me UB [927.400968 x10°2° JTt
9. [h/2n 7 |1.054571726 x1034 Js
10. | Fine-structure constant o 7.2973525698x10°3
e2/4meghc
11. | Classical electron radius o 2ay re |28179403267x10°"5 m
12. | Compton wavelength h / mec Ac |24263102389 x10°12 m
13. | Proton gyromagnetic ratio 2y, /h| oy p | 2.675222005 x1 08 sT
14. | Proton Compton wavelength h/ myc | Lep | 1.32140985623 x1 0 m
15. | Neutron Compton wavelength h /mac| Aen [1.3195909068x1 [ m
16. | Rydberg constant a:?mec / 2 h Reo | 10973731.568539 m-!
17. | (unified) atomic mass unit u  [1.660538921 x1027 kg
18. | Proton magnetic moment wp | 1.410606743x10°%° JTt
19. | Electron magnetic moment We |-928.476430x10°2° JTt
20. | Neutron magnetic moment Wn |-0.96623647 x10°20 JTt
21. [ Muon magnetic moment Wy |-4.49044807 x102° JTt
22. | Faraday constant Nae F 96485.3365 Cmol !
23. | Elementary charge e [1.602176565x107"° (e}
24. | Avogadro constant NA |6.02214129x10%% mol !
25. | Boltzmann constant R / Na k |1.3806488 x102® JK!
26. | Molar volume of ideal gas RT /p | Vm |22.413968 x10°% m®mol !
T=273.15K, p=101.325 kPa
27. [ Molar gas constant R |8.3144621 Jmol KT
28. | Speed of light in vacuum Cco |299792458 ms™!
29. | First radiation constant 27 Ac2 ¢y |3.74177153x10°16 W m?
Second radiation constant hc/k 1.4387770 x102 mK




NO. Constant Symbol Value Unit
31. | Stefan-Boltzmann constant G |5.670373x108 W m2 K4
32. | Electric constant 1 / 1 o¢? e |8.854187817 x10712 Fm!
33. | Magnetic constant Wwo |12.566370614x107 NAZ
34. | Magnetic flux quantum h / 2e @, |2.067833758 x1071° Wb
35. | Standard acceleration of gravity g 9.80665 ms?
36. | Conductance quantum 2e?/h Gy |7.7480917346x10°° S
37. | Characteristic impedance of vacuum Zy |376.730313461 Q
VHo / €0 = Hoc
38. | Celsius temperature t 273.15
39. | Newtonian constant of gravitaton | G | 6.67384 x10°™!" mikgs?
40. | Standard atmosphere atm | 101325 Pa
41. | Proton g-factor 2, / gp |[5.585694713
42. [hgp /27 Zon |0.21001941568x1071 m
43. | Planck length £/ mpe=(hG /3" | Ip | 1.616199x1035 m
44. | Planck time Ip / c=(h G / c%)"2 tp | 5.39106x1044 s
45. | Planck mass (fic / G)'2 mp | 2.17651 x10°8 kg
46. | Atomic mass constant m, | 1.660538921 x1027 kg
47. | Electron volt: (e/c)J eV |1.602176565x107"° J
48. | Molar planck constant Nah [3.9903127176x10"0 | J's mol™!
49. | Wien displacement law constant b 2.8977721 x10°3 mK
50. | Lattice parameter of Si(in vacuum, 225°C) | a | 543.1020504 x 102 m
51. | Hartree energy e2/4 e gag Eh |4.35974434 x1078 J
52. | Loschmidt constant N /Vm ng |2.6867805 x10%° m3
53. | Inverse of conductance quantum Gg‘1 12906.4037217 Q
54. | Josephson constant 2e/h K, |483597.870 x10° Hz v
55. | Von Klitzing constant h/e? Rk | 25812.8074434 Q
56. | Lo /2T %o |386.15926800x10715 m
57. | Thomson cross section 87/ 3)% | oo |0.6652458734 x1028 | m?
58. | Electron magnetic moment anomaly EN 1.15965218076 x10™
luel/ ng-1
59. | Electron g-factor-2(1+ ag) de [-2.00231930436153
60. | Electron gyromagnetic ratio Ye 1.760859708x10"! sTTt
2Auel/h
61. | Muon magnetic moment anomaly [ a, 1.16592091 x10°3
62. | Muon g-factor-2(1+ &) gu |-2.0023318418
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Constant Value
63. | Muon Compton wavelength h / myc | Agyu | 11.734441 03x107"% m
64. [hcyu/2m Kop | 1.867594294x1071° m
65. | Tau Compton wavelengthh /m .c | L¢ . | 0.697787 x1 015 m
66. | Ao /2T %o |0.111056 x1071° m
67. | Tau mass m. [3.16747 x10%7 kg
68. |hcp /2T %op |0.21030891047 x10°1° m
69. | Shielded proton magnetic wp [ 1.410570499 x102 JTt
moment(H20, sphere, 25°C)
70. | Neutron g-factor 2 u, / un gn |-3.82608545
71. | Neutron gyromagnetic ratio Yn |1.83247179x108 st
2pnl /i
72. | Deuteron mass mg | 3.34358348 x1027 kg
73. | Deuteron magnetic moment Wy |0.433073489 x10°26 JTt
74. | Helion mass my | 5.00641234 x1027 kg
75. | Shielded helion magnetic wh |-1.074553044 x10°26 JTt
moment(gas, sphere, 25°C)
76. | Shielded helion gyromagnetic ratio v'h | 2.037894659 x108 sttt
2|1 n1/ 7 (gas, sphere, 25°C)
77. | Alpha particle mass m, | 6.64465675 x1027 kg
78. | Shielded proton gyromagnetic ratio Y'p |2.675153268 x108 sttt
24" 5 /1 (H20, sphere, 25°C)
79. | Proton magnetic shielding G'p |25.694 x10®
correction 1-t" p / 1 p(H20,
sphere, 25°C)

! Constant values cannot perform rounding.

Source: CODATA Internationally 2010
http://physics.nist.gov/constants



Metric Conversions

The calculator has 172 conversion pairs which allows you to convert

a number to and from the specified metric units.

« Press enter the conversion menu.

« There are 8 category pages (distance, area, temperature,
capacity, weight, energy, pressure and speed) containing 36
metric symbols, you can press (A or (¥) to change the category
selection page.

« In a category pz&l%e, you can shift the selection cursor left or right by

pressing (O or ).

Page Symbol Unit
1 feet feet
1 m meter
1 mil milliliter
1 mm millimeter
1 in inch
1 cm centimeter
1 yd yard
1 mile mile
1 km kilometer
2 ft2 square foot
2 yd? square yard
2 m square meter
2 mile? square mile
2 km? square kilometer
2 hectares hectare
2 acres acre
3 °F degree Fahrenheit
3 °C degree Celsius
4 gal gallon (U.K.)
4 liter liter
4 B.gal gallon (U.S.)
4 pint pint
4 fl.oz fluid ounces (U.S.)
5 Tr.oz ounce (troy or apothecary)
5 0z ounces
5 b libra
5 Kg kilogram
5 g gram
6 J joule
6 cal.f calorie
7 atm standard atmosphere
7 Kpa kilopascal
7 mmHg millimeter of mercury
7 cmH,0 centimeter of water
8 m/s Meter per second
8 km/h Kilometer per hour




« Go back to the calculation mode by pressing within the
category selection menu. After the base conversion unit,
®,@or keys will be invalid.

« If the converted result overflows, [ERROR] will be shown in the
lower display. Press (=] to select the overflow value; the following
scenarios are valid:

Scenario A - Keep selecting the other conversion value by
pressing (O or ®

Scenario B - Clear the screen and jump out of the selection
by pressing or [CA].

Scenario C - Jump back to the previous calculation screen by
pressing (cow).

Example: Convert 10 + (5 f2—>m?) = 10.4645152
MATHEMATICS MODE: & &% (1)

Key in Operation Display

Unit (distance) “

M ] feet m mil mm in

(menu selection menu) cm yd mile km

@ (=] (confirm selection ft?) 2 yd? m? mile?
km? ha acres

® ® [=] (confirm the value 10+5ft2»m?

convert into m?)

= 10+5ft2» m? *

10.4645152

M Press (1) to enter COMP mode.
W == 3.1415926535897932324
H e =2.7182818284590452324

Square, Root, Cube, Cube Root, Power, Power Root,
Reciprocal and Pi

MATHEMATICS MODE: & ¥ (1)
Example Key in operation Display
(7e5) e (o5)

=0.6217559776

shift 15

0.6217559776

(2

Wz x23) 253)




Logarithm, Natural Logarithm, Antilogarithm and Logab
MATHEMATICS MODE:

smﬂ SET up

Example

Key in operation

Display

e?+10"2+In3 =
16.99733128

shift e
=

5B e
& &S )
(2] @ -@@

~ 410" +1n(3

16.99733128

log;81 —log1 =4

log,(81) - log(1

Angle Unit Conversion

The default calculator angle unit setting is “Degree”. Press
to enter the setup menu to change the unit to “Radian” or “Gradient”,:

=N

Shift DRGP

i

shift SET-UP
 —

Press the corresponding number key ( 3 ],( 4] or (5 ] for the
angle unit you need. Then the display will show the 8], R, [€
Indicator accordingly.

Convert an angle unit between “Degree”, “Radian” and
“Gradient” by pressing % °f

Then, pressing (1 ],('2 ], or (3] will convert the displayed
value into the selected angle unit.

MATHEMATICS MODE: & £ (1]
Example Key in operation Display
dC:grveinir:tioradian % g @ @ 180° R]
Shift
and gradient @ () DRG:’] @ E] n
(180° = nRad = o
200%ad) :|] SE,:,US, @ E] 180°

200




Trigonometry Calculations

Shift SET up

W Before using the trigonometric functions (except
hyperbolic calculations), select the appropriate angle unit
(Deg/Rad/Gra) by pressing &5

At | anglovaluo | el Fenee

Deg Units of 15° Iz <9x10”
Rad Multiples of %ﬂ radians | |rr| <207
Gra Multiples of %2 grads || < 10000

B 90°= ﬁ Radians = 100 Gradients.
MATHEMATICS MODE: ™ & (1)

Example Key in operation Display
Degree Mode % = (3] B
sin6o= & Gael)0[=] |0 5
os=Cosec 45° =73 | (sin] (4 (5 ) sin(45)"

=) V2

lizink  Zicosh
Fitank  4i1ziftk-l
S:cosk-l 61 tank-

B Hyperbolic (sinh/ cosh/ tanh), Inverse Hyperbolic
(sinh-/cosh-'/tanh) functions
B Press|(hyp] to enter the sub-hyperbolic menu.

Example Key in operation Display
sinh2.5 — cosh 2.5 (1J(2)(=J(5]]| sinh(2.5) - cosh(>
=-0.082084996 | (7] [=](fwe) (22

-0.08208499862
CJGJ0]E=)
Cosh"'45 (5)[4](5][=]| cosh(45
=4.499686191 4.499686191




Permutation, Combination, Factorials and Random
Number Generation
il
B Permutation: #Pr =ﬁ
n!
r(n-r)!

B Combination: ncr -

B Factorial: x=x(x-D(x-2)...2)1)

Example Key in operation Display
10Ps = 720 (1](0) & (3] |10P3
=) 720
5C2=10 (5] &% 5 [2)(=) [sc2
10
51=120 &S SE |8
120

Bl Random Number Generation

[% "5 . Generate a random number between 0.000 and

0.999. The display result will be in fraction format in
Maths mode.
(lehs e - Generate a random number between two specified

positive integers. The entry is divided by “.

MATHEMATICS MODE: & &%

Example Key in operation Display
Generate a random | &) mnd | 7= Rand
number between 139
0.000 & 0.999 1000

Generate an integer | (29 iand (47 SR 5 i pang(1,100

from a range of 1 to 33
o [M00]=)

*The value shown here is only a sample, results will differ each time.



Product (17) Calculation

M Press vooe] (1 Jto enter COMP mode.
W a = start, b = end, ¢ = formula

Math mode: ]l-j[ (C) Line mode: TT(c, a, b)
x=a

Example: Product of (x+1) from 0 to 5

MATHEMATICS MODE: &* % (1]

Key in operation Display

e
OGBIE] x

(x+1)

=[]

0

720

Summation ( ¥ ) Calculation

M Press (vooe][ 1 Jto enter COMP mode.
W a = start, b = end, ¢ = formula

Math mode: g (c) Line mode: ) (c, a, b)
x=a

Example: Summation of (x+1) from 1 to 5

LINE MODE: &% ¥ (2]

Key in operation Display

& 2] A[F]) | Y (x+1,1,5
(e ()™
= 06] =)

20

Maximum Value and Minimum Value Calculation
M Press moog)( 1 Jto enter COMP mode.
Il At most five values can be calculated.
MATHEMATICS MODE: & &4 (1)
Example Key in operation Display

To calculate Maximum %@@ S =) Max(3, sin(30), C >
value of 3, sin30 and @ 3001 T2
00830 olos)(6]0](=] 3

To calculate Minimum | C25(4](3 )25 T 2. Min(3, sin(30), CI>
value of 3, sin30 and @ 3] o)1 }
cos30 o (cos)(6)[0)(=) =z
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Modulus After Division (Mod) Calculation

M Press mooe][ 1 Jto enter COMP mode.

MATHEMATICS MODE: & &4 (1)
Example Key in operation Display
The modulus after Apps shift
division (Mod) of 23 ,:]@ (2)(3] &% Mod(23.5
and 5 = @ E 3
The modulus after Apps Mod(-23, 5
division (Mod) of Shm @ - @ E ¢
23and 5 =1l 2
Least Common Multiple and Greatest Common Divisor
B LCM: Calculate the least common multiple among
(maximum) three positive integers.
B GCD: Calculate the greatest common divisor among
(maximum) three positive integers.
MATHEMATICS MODE: &% #4% 1)

Example Key in operation Display
LCM(15, 27, 39) ) (1)(5) &% | Lem(15,27,39
=1755 i

S o
B)9E] 1755
LINE MODE: & & (2]

Example Key in operation Display
GCD(12, 24, 60) cees (812 it | GCD(12,24,60
=12 s ift

H@DE™ s
(6](0J(=] 12
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PFact

Prime Factorization

« Factor a positive integer of up to 10 digits into prime
factors of up to 3 digits.

Ptact Number : 0 < X < 99999 99999 (X is integer)

« The reminder that cannot be factored will be enclosed in
parentheses on the display.

Example: 99999 99999 = 32 x 11 x 41 x 271 x (9091)
MATHEMATICS MODE: & &%

Key in Operation Display
A

(9J9J(@J(9)9](9] 9999999999
(9]J(9)9l(9](=]
chify fracty 32x11x41x271x(9»
0 1777 .

Shift PFact
=5 (777)

NOTE Shift  PFact

« During any calculation operations, pressing C_J 2 or
(=) or [eng] or key will exit the prime factorization
result display.

» Use the setup menu to change the angle unit setting
(Deg, Rad, Gra) or display digit setting (Fix, Sci, Norm).

» [Math ERROR] will be shown if decimal value, fraction,

negative value calculation result, or Pol, Rec, Q...Ris
displayed.
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Quotient and Remainder Calculations

B “Quotient” (Q) is the result in a division problem, “Remainder”
(r) is the value remaining in an integer division problem.

B The calculated quotient value (Q) and remainder (r) will be
stored into memory variables “C” and “D”, automatically
assigned.

M In Maths mode, press &) or (3 to scroll through a long
calculation result.

B In Line mode, the quotient value (Q) and remainder (r) will be
shown over 2 lines.

M Only the Quotient Value (Q) can continue to be used for the
next calculation or be stored into memory variables.

LINE MODE: ™ & [2]

Example Key in operation Display
?(35:;10=3x10+5 %@@@ (c:;.:..r(ss,m ,
R=5 — ’:J E @ R= 5

Quotient value (Q) + 3 =) Ans+3

=6 6
Recall Quotient =5 C
value (Q) 3
Recall Remainder 3 D
value (r) 5

Coordinate Conversion

B With polar coordinates, you can calculate and Display 6
within the range of —180° < 6 < 180°. (Same as Radian and
Gradient)

B In Maths mode, press () or (3) to scroll the through
calculation result.

M In Line mode, (x,y) or (r, 8) will be shown over 2 lines.

W After conversion, the results will automatically be assigned to
memory variables X and Y. Press % or —Yto show the
results.

x
Rectangular Coordinates Polar Coordinates (Pol)

R
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Shift  pol(
[ |

—Xforr, or

: Convert rectangular coordinates (x, y) to polar
coordinates (r, 8); Press

for ©.
MATHEMATICS MODE: ™ &5 [1J
Example Key in operation Display
With rectangular % 1) % 2 | Pt 3
coordinate (x=1, y=
3). Find Polar r=2, =60
coordinate (r, 6) at X
degree mode 2
Y
60

Ghifty Rec : Convert polar coordinates
coordinates (x, y); Press % forx, or -
fory.
LINE MODE: & &% (2]
Example Key in operation Display
With Po_lar coordinate % e (2) % = Rfc(2, 60
(r=2, 6=60°). X= 1
Find Rectangular | (6 ](0](=]) Y= 1732050808
coordinate (x, y) at X
degree mode = X 1
-] Y
1.732050808
Absolute Value Calculation
MATHEMATICS MODE: ™% 5 [1]
Example Key in operation Display
‘sin(()O -5)x(- JT)‘ (abs](sin] (6 ]( 0] E] ‘sin(éO - S)X(—ﬂ)‘

2.573442045
Engineering Notation
LINE MODE: & % (2]
Example Key in operation Display
+200 = -3 -
1+200 = 5x10 (1J)(=)(2)(0](0] | 1+200
E 5x10%
ERER 1200
5000x10®
shift <enG 1200
o 5x10°%
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Complex Number Calculations &S

Complex numbers can be expressed in rectangular form (z = a + bi)
or polar form (r £0). Where " a " is the real number, " bi " is the
imaginary number (and i is the imaginary unit equal to the square
root of =1, V=1), " r " is the absolute value, and " 6 " is the argument of

the complex number.
Imaginary axis (i)

4

\e
0 3 Real axis

B Press(voog) (2] to enter CPLX mode.
W Press (2 to select the calculation type.

Complex Number Type Selection

There are 6 types of complex number calculations in the Complex
Number Type screen. Press the number to select the type of
Complex Number Calculation:

l:prse Zipas+bi
STAr3 41CohnJ3
SiReal Gilmasz

B Check the current angle unit setting (Deg, Rad, Grad).

B [;]indicates the display result is the imaginary number;
[ « ]indicates the display value is the argument value .

B Imaginary numbers will use up replay memory capacity.

Rectangular Form and Polar Form Conversion
Pressing % 1 can convert rectangular form complex numbers
into polar form whereas pressing &3 "2 Jwill convert polar form
complex numbers into rectangular form.

MATHEMATICS MODE: &% % (1]

Example Key in operation Display
3+4i= LA | 3i4inrlo

5/53.13010235 | (1] (=] 5/53.13010235
V2<45=1+i V2/45=pa+bi




Absolute Value and Argument Calculation
With the rectangular form complex number, you can calculate
the corresponding absolute value (r) or argument (6) by

‘Apps

pressing or fe respectively.
LINE MODE: & &5 (2]
Example Key in operation Display

Absolute value (r) @ :’1 Abs (6+81)

and argument (0) if )

complex number is @ 10

6187 ® (o) & (3] (=) | Ao 6rei)
53.13010235

Conjugate of a

Complex Number

If the complex number is z = a + bi, the conjugate value of this
complex number should be z = a — bi.

LINE MODE: ™ ] (2]

Example Key in operation Display

3+4i is 3-4i &= (4)(3])(+])(4])| conig (3+4i)
o 0JE=) 4?
-4i
Determine the Real/lmaginary Values of a Complex
Number
MATHEMATICS MODE: ™% %

Example Key in operation Display
Real and Imaginary % [(5](2](3] & |Real(23454)
s | (51 (4] ) (=)

O™ (6)(=) | maaasy
18.60739087
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Base-n Calculations and Logical Calculations

Press E] to enter Base-n mode.

Decimal (base 10), hexadecimal (base 16), binary (base 2), octal
(base 8), or logical calculations.

To select a specific number system in base mode simply press
5 Decimal [DEC], 5 Hexadecimal [HEX], =5’ Binary [BIN] or

ocr Octal [OCT].

Press pees

key to perform logical calculations including: Logic

connectlon [and] / [or], exclusive or [Xor], exclusive nor [Xnor],
argument complement [Not] and negation [Neg]

If the binary or octal calculation result is more than 8 digits,

W‘IZ” be displayed to indicate the result has a next block. Press
) to loop between result blocks.

In Base-n mode all the scientific functions cannot be used, and

you cannot input the value with decimal places or exponents.

MATHEMATICS MODE:

smﬂ SETUP m

Example

Key in operation

Display

10101011+1100—
1001x101+10
=10100001

(in Binary Mode)

o DMEMO
ENEN[EI|ENERTI]
BT ENEIEN
D EETE

10101011+1100—?l>
BIN
1010 0001

645+321-23x7+2
=1064
(in Octal Mode)

< (6)@)(5)(#)(3]
2)(=12)(3)
D=@E=E)

645+321-23x7+2
ocT
00000001064

(7T7A6C+D9)XB+F
=57C87

& O T5(06)
x]

(TTA6C+DOXB+F

- ) HEX
(in Hexadecimal Mode) 00057C87
Base-n Transformation 3= %= 5> ="
Example Key in operation Display
12345+101=12446 |[(1])(2](3) (5] |[12345+101
M)W= DEC
HEX 12345+101
HEX
000309E
BN 12345+101
| <BIK {17 BIN
1001 1110
ocr 12345+101 .
ocT
00000030236
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Logical Operation
MATHEMATICS MODE: &% &5 (1]

Example Key in operation Display
789ABC Xnor () (8)[9]) 5 =5 |789ABCxnor147258
147258 SEMM@ HEX

ﬂ@@-@ Frosi71B

Ans or 789ABC &) Ansor789ABC
o so= HEX
FFFBOFBF

Neg789ABC | (22 (] (9) |Neg(78oaBC
=R=N=lE HEX
FF876544

Statistical Calculations

B Press @ to enter Statistical calculation mode: the
“STAT” indicator will light up.

W Press (5 (1) (Type) to select the calculation type.

B |n Statistical Calculation, store data, result, or
dedicated values into 17 memory variables (0-9, A-D,
M, X and Y).

Statistical Type Selection

There are 8 types of Statistical Calculation, after entering the
Statistical Type Selection screen, press the number to select
the type of Statistic Calculation.

i1::0 =] L;n
Situad 4z

SiE€ EXP G2 ab ExP
TiPH- S1lnu

Pressing Key Statistical Calculation
1(SD) One-variable statistics (x)

2 (Lin) Two-variable, Linear regression (y=A+Bx)

3 (Quad) Two-variable, Quadratic regression (y=A+Bx+Cx?)
4 (Log) Two-variable, Logarithmic regression (y=A+BInx)

5 (e EXP) Two-variable, E exponential regression (y=Ae®)
6 (
7(
8 (

ab EXP) [ Two-variable, ab Exponential regression (y=AB*)
Pwr) Two-variable, Power regression (y=Ax®)

Inv) Two-variable, Inverse regression (y=A+B/x)
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Statistical Data Input

After confirming the calculation type in the Statistical Type
Selection screen or by pressing (*=)(2] (Data) in the STAT

mode, the following Statistical Data Input screen will be shown:

==

o

? |

1
gl
3

=

FRER

1-variable STAT

2-variable STAT

1-variable STAT
"FREQ ON”

After turning on Data Frequency in the setup menu, the

“FREQ” column will be added into the above screen.

The following are the maximum number of lines for data input.

Statistic type FREQ ON FREQ OFF
Single Variable (only x input) 40 80
2 Variable (x & y input) 26 40

Input expression and display result values in the Statistical
Data Input screen are in Line mode (same as Comp mode
with Line mode status).

After inputting the data, press (=] to store the value into
statistical registers and display the value (max. 6 digits) in the
cell. You can press the cursor key to move the cursor
between each cell.

Editing Statistical Sample Data

B Replacing the Data in a Cell

(1) In the Statistical Data Input screen, move the cursor to
the cell you want to edit.
(2) Input the new data value or expression, and press( = J.

M Deleting a Line

(1) In the Statistical Data Input screen, move the cursor to
the line you want to delete.

(2) Press

M Inserting a Line

(1) In the Statistical Data Input screen, move the cursor to
the IineAthat will be under the line being inserted.

(2) Press (™ [3](Edit)

(3) Press [1](Ins)

Hl Deleting All, STAT Data Input

(1) Press C (3] (Edit)
(2) Press (2] (Del-A)

108



Statistical Calculation Screen

B After inputting the STAT Data, press to enter the
Statistical Calculation screen.

W Statistical Calculation screen is in Line mode for input
& output display

B Use the Statistical Menu to calculate the Statistical
result. (S-SUM, S-VAR, S-PTS, Reg).

Statistical Menu

In the Statistical Data InpuAt screen or Statistical
Calculation screen, press () to display the Statistical
Menu screen.

1:Twpa  ZiData 1:Twpa  ZiData
e HUE | |EE iR
Ti0istr Ti0istr 3iRea
1-variable STAT 2-variable STAT
STAT items Description
[1] Type To enter the statistical calculation type screen
[2] Data To enter the statistical data input screen
[3] Edit To enter Edit sub-menu for editing STAT editor screen contents
[4] S-SUM | To enter S-Sum sub-menu (calculating sum)
[5] S-VAR To enter S-Var sub-menu (calculating variable)
[6] S-PTS To enter S-PTS sub-menu (calculating points)
[7] Distr To enter Distr sub-menu (calculating distribution)
[8] Reg To enter Reg sub-menu (Regression calculation)
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Statistical calculation result in [4] S-SUM, [5] S-VAR, [6]

S-PTS, [8] Reg
sugmgnu STAT Type Value Symbol | Operation
S-SUM |1 &2 variable | Summation of all x2 value X2
STAT Summation of all x value X
2-variable Summation of all y2 value 2y
STAT only Summation of all y value Sy
Summation of xy pairs Xy
Summation of all x3 value >x°
Summation of all x2y pairs yX%y
Summation of all x4 pairs x4
S-VAR |1 &2 variable |Number of data sample n
STAT Mean of the x values X
Population standard deviation of x X0
Sample standard deviation of x XOp-1
2-variable Mean of the y values y
STAT only Population standard deviation of y |  yon
Sample standard deviation of y YOn-1
S-PTS |1 &2 variable |Minimum value of X minX
STAT Maximum value of X maxX
1-variable Median med
STAT only Mode mode
1st Quartile Value Q1
3rd Quartile Value Q3
Range R
2-variable Minimum value of Y minY
STAT only Maximum value of Y maxY
Reg For non-Quad | Regression coefficient A A
Reg Regression coefficient B B
Correlation coefficient r r
Estimate value of x R
Estimate value of y %
Reg For Quad Reg | Regression coefficient A A
only Regression coefficient B B
Correlation coefficient C C
Estimate value of x1 1
Estimate value of x2 22
Estimate value of y g
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Statistical Calculation Example

SD Type Statistical Calculation

Example:

To calculate yx2, ¥x, n, X, XO,,, X0, 4, minX, maxX of data: 75,
85, 90, 77, 79 in SD mode (Freq: OFF)

Key in operation Display
(v (3] 1150 ZiLih
SrGuad  4ilod
S1E EXP GBiab ERP
TiPuE S I
(1] (sD)
éﬁ|
3
()51 (=18]6]=]0] J P
== 5
=) §
e @M= 2
33120
(ca] & (4](2](=) x
406
e BE n
5
[ca) & (5)(2)(=) X
81.2
(ca) & (5)(3](=] xon
5.528109984
) (5)(4)(=) xon-1

6.180614856

Quadratic Regression Type Statistical Calculation Example:
ABC Company investigated the effectiveness of the
advertisement expenses in coded units, the following data was

obtained:
Advertisement expenses: X 18 35 40 21 19
Effectiveness: y (%) 38 54 59 40 38

M




Please use regression to estimate the effectiveness (estimate
the value of y) if the advertisement expenses X=30, also
estimate the advertisement expenses level (estimate the value
of X, Xy) if the effectiveness is y = 50.

Key in operation Display
(3] 1130 ZiLin
SFEEad d1Lo3
Si& ERF Giab ExF
Ta2PwE E=HN § g 1%
(3] (Quad) \ ﬁ v
g
ERER S E R Y
o)=2IME=EMAI0mE) y 2l ug
= ® 0 BIEIEGE] b
(4)(=15)09](=](4](0]
=3B3EI1E=)
[)E10)& (8)E]=) 30y 48.69615715
[@[5)00] & EEE=)| %
31.30538226
@50 & (B)EI=)| %
-167.1096731

Distribution Calculations

B After sample data is entered in either Statistic (SD) or Regression
(REG) mode, you can perform the normal distribution or
probability distribution calculation such as P(t), Q(t) and R(t) in
which t is the variate of the probabilistic experiment.

_ x-X
J ¥_ t= XGp

Q)
P(t)——|
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B Press & to display the distribution calculations screen.

1: P(
3:R(

2: Q(
4:»pt

B Press[1J,( 2 ),( 3 Jor (4 Jfor the corresponding calculations.

P(t): Probability below a
given point x

P(t)

=" . 121[ 0 g, i i

Q(t): Probability below a
given point x and above
the mean

Q(t)

Q(t)=05-R(t), / \

R(t): Probability above a
given point x

R(t)=1-P(t),

R(t)

Vi

Example: Calculate the probability distribution P(t) for the sample
data: 20, 43, 26, 46, 20, 43, when x = 26.

Key in operation Display

ENER o |

§
2] =M@E)E=E) )
QEeEE@WEE |§
(2]0)(=]a)3](=] |1
(2](6] & (4] |26»t
=) -0.6236095645
Loy M=) P(Ans

0.26644

113




Equation Calcula

B Press (5] to enter the equation mode; press ®/®
for next / previous pages.

ns

152 unkhoHR EBN <) irguad  E@M
Z:3 unknown EGH ZiCubic EEM
Fid URKROWN EGN Press [ @] Frouart EGN
or [®]key
Equation Item Description

[1] 2 unknown EQN | Simultaneous Linear Equations with two unknowns

[2] 3 unknown EQN | Simultaneous Linear Equations with three unknowns

[3] 4 unknown EQN | Simultaneous Linear Equations with four unknowns

[4] Quad EQN Quadratic Equation, degree 2 equation

[5] Cubic EQN Cubic Equation, degree 3 equation

[6] Quartic EQN Quartic Equation, degree 4 equation

Simultaneous Linear Equations

Simultaneous Linear Equations with Two Unknowns:
a;x + by =c¢y
aX + by =c;

Simultaneous Linear Equations with Three Unknowns:
a;x + by + ciz=d,
ax+by+c,z=d,
ax + by + cz =ds

Simultaneous Linear Equations with Four Unknowns:
aw+bxx+ciy+diz=e
aW +byx+cy+dz=e,
AW+ bax +cy +dsz=e;
W+ bx+cy+diz=e,

114



Example: Solve the simultaneous equation with three
unknowns:
2x+4y—4z=20
2x—2y+4z=8
5x—2y—-2z2=20

Key in operation Display
[wooe] (5] (2] (3 unknowns) B
e S A
| 1} 1} 1}
[
IE@MEEEE =
2= : 1
3 1} 1]
a
2IE=RIEEE] | b " "
(81(=] 2 -a U
| 1} 1}
A
DESEZEEmD|, o, Ho
=20 = : g ]
za
=) X=
1
2
= v=
3
= z-
3
)
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Quadratic, Cubic and Quart Equations

Quadratic equation :ax? + bx + ¢ = 0 (a second-order polynomial
equation with a single variable x)

Cubic equation :ax® + bx? + cx + d = 0 (an equation with cubic
polynomial)

Quart equation raxt+bx*+cex2+dx+e=0

Example: Solve the Cubic equation 5x* + 2x2—2x + 1 =0

Key in operation Display
=]
e - b %o
(Cubic equation)

a

DEZEODE|, &, °_, mkam
ME

1
=) Xi=
-
=] Xo= 3
—~+0.331662479i
10
=] Xs=

3 .
10 -0.331662479i

B For Quadratic, Cubic or Quart equations, the variable name starts
with “X1".

Solve Function

B Solve functions use Newton’s Method to obtain the approximate
solution of equations.

| Note: SOLVE function can be used in the COMP Mode only. |

B The following describes the types of equations whose solutions
can be obtained by using SOLVE function.
¢ Equations that include variable X,
SOLVE function solves for X, for example, X2 + 2X -2, X =Y + 3,
X-5=A+B, X =tan(C),
Variable X to be solved should be put at the left hand side of
the equation.
For example, an equation is input as X2 + 5X = 24 or X2 + 5X —=24 =0
or X2 +5X 24
An expression like X? + 5X — 24 will be treated as X? + 5X —24 =0,
not necessary to input “= 0”.

¢ Equations input uses the following syntax :
{equation},{solution variable}
In general, an equation is solved for X, unless specified. For
example, to solve for Y when an equation is inputas, Y =X + 5, Y
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Important precaution when using “Solve” function:

The following functions f,d—x, >, m, Pol, Rec, Q...r, Rand, i-Rand or
multi-statement are not allowed to input into an equation for SOLVE
function.

Since SOLVE function uses Newton’s Method to obtain the solution,
even if there are multiple solutions, only one of them will be shown as
the solution.

SOLVE function may not be able to obtain a solution because of preset
initial value of the solution variable. In case this happens, try to change
the initial value of the solution variable.

SOLVE function may not be able to find the correct solution, even if the
solution(s) exists.

If an equation contains input functions that include an open parenthesis,
do not omit the closing parenthesis.

It will show “Variable ERROR” when the expression does not contain the
variable that you want to solve.

Newton’s Method may have problems for solving the following types of
functions, for example y = eXy= 5 Y =sin(x), y =vX, etc.

In case the equation takes long time for solving, the calculator will display
“PROCESSING” screen, you can cancel the processing of SOLVE
operation by pressing the key.

Example: To solve X=;—nBZC (when B=5; C=20)

Key in Operation Display
E] (COMP MODE)
Apha X Alpha = E] @ @ x=—e2c
oo 3
shift 1 Alpha B Alpha C
Y Fiis & o
5]=) e 0
210)=)
[ =0

= X= ;_mszc

Solution variable X= 523.5987756

The Precision of Solution shows the result when the obtained
solution is assigned to the solution variable. The precision of the
obtained solution is higher if this value is closer to zero.

Continue Screen

SOLVE performs convergence a preset number of times. If it
cannot find a solution, it displays a confirmation screen that shows
“Continue: [=]", asking if you want to continue. Press (=] to continue
or [ca) to cancel the SOLVE operation.
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CALC Function

B CALC function is a memory zone with a maximum of 79 steps
to store a single calculation expression which can be recalled
and calculated a number of times with different values.

B After inputting the calculation expression and pressing ,
the calculator will request for the current value of your input
variables.

B CALC function can only be used in COMP mode or CPLX mode.

Example: For the equation Y = 5x2 — 2x +1, calculate the value of Y

ifx=5o0rx=7.

LINE MODE: sm« SETUP

Key in operation Display
mooe] (1) (COMP MODE) 0
fehe v pehs =[G ) pkhe X[y ] | y=5X2-X+1
HI2Jes s+ 0
51(=) Y=5X2-X+1
116
=) Y=5X2-X+1
232

stored expression will be cleared when you start a new
calculation, change into another mode, or turn off the calculator.

Differential Calculations

B Differential Calculations can be used in the COMP mode only.
W To perform a differential calculation, you have to input the
expression in the form of:
& 40 f(x) (5 a io ax O]
« f(x) : Function of X. (All non-X variables are treated as constants.)
« a : Differential point.
« Ax : Tolerance (calculation precision); for Line mode only
W Your calculator performs differential calculations by aprroximating
the derivative based on centered difference approximation.

Example: To determine the derivative at point x = 10, Ax = 10'8, for
the function f(x) = sin(3x + 30)

Key in operation Display
[wooe) (1] (COMP MODE) 0
254 () (3) 25
(3] @ OJ e o) @
& = () (ee) (=) (8] (0]

(=] 0.02617993878
118
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' You can leave out the Ax in the differential expression and the
calculator will automatically substitute a value for Ax.

! The smaller the entered value Ax is, the longer the calculation time will
be with more accurate results, the larger the entered value Ax is, the
shorter the calculation time will be with comparatively less accurate
results.

! Inaccurate results and errors can be caused by the following :

« Discontinuous points in x values

« Extreme changes in x value

« Inclusion of the local maximum point and local minimum point in
x values.

« Inclusion of the inflection point in x values

« Inclusion of undifferentiable points in x values

« Differential calculation results approaching zero

! When performing differential calculations with trigonometric functions,
select radian (Rad) as the angle unit setting.

I Logab, i~Rand(, Rec(, Pol(, J(, d/dx(, 3(, [1(, Max( and Min( functions
cannot join in differential calculations.

! You can cancel the processing of differential calculation by pressing
the key.

Integration Calculations

B Integration Calculations can be used in the COMP mode only.
B To perform an integration calculation you are required to input the
following elements:

(£1) f(x) CHaobin[0]

« f(x) : Function of X. (All non-X variables are treated as
constants.)

* a, b : The integration range of the definite integral.

*« n :Tolerance; for Line Mode only

B The integration calculation is based on Gauss-kronrod method.

H The internal integration calculations may take considerable time
to complete. For some cases, even after considerable time is
spent performing a calculation, the calculation results may be
erroneous. Particularly when significant digits are less than 1,
an ERROR might occur.

Example: Perform the integration calculation for, with n = 4.

L 5x+ 332+ 2x + 1)dx

Key in operation Display
(1] (comP MODE) 0
(5] 225 5 ) (4] O]
3 (2) J(5XA(4)+3X2+2Xp
s S ) enes 2] 236

s3] s(4)0 (=)
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! When performing integration calculations with trigonometric
functions, select radian (Rad) as the angle unit setting.

! Log,b, i~Rand, Rec ( and Pol ( functions can not join to integration
calculations.

Matrix Calculations

W Press o enter Matrix mode.

B Before starting matrix calculations, you have to create one matrix
or a maximum of four matrices named A, B, C and D at one time.
The matrix dimension can be up to 4x4.

B The matrix calculation results are stored into the MatAns memory
automatically. You can use the matrix MatAns memory for any
subsequent matrix calculations.

Creating a Matrix
W Press to enter Matrix mode.

Matrix?
l:MathR ZiMatE
FiMatc  d:matD

W Press ® to use the MATX application; press @/ ® for
next / previous pages.

L:0im Fi0Oats <) i:Det  Z:iTrn
SiMatA  4:iMatE Press [ @] S Ide d1Add.d
SiMatC  G:MatD S:Inw

TiMatAns or[@Tkey
MATX ITEM DESCRIPTION
[1] Dim Specify the Matrix memory A to D, and specify the
dimension (up to 4 x 4)
[2] Data Specify the matrix A-D for editing and corresponding
matrix element
[3] MatA to MatD Select matrix Ato D
[4] MatAns Calculation Answer of Matrix & Store into MatAns
[5] Det Determinate function of Matrix A-D
[6] Trn Transposed data in Matrix A-D
[7] Ide Identity of matrix
[8] Adj Adjoint to Matrix
[9] Inv Inverse of Matrix

W Press to exit the matrix creating screen.
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Editing Matrix Data

W Press =y (2] (Data), then specify the matrix A, B, C or D
for editing and the corresponding matrix element indicator will be
displayed.

B Input the new value and press( =] to confirm the edit.

B Press [CA]to exit the matrix editing screen.

Matrix Addition, Subtraction and Multiplication

123 9 87

Example: MatA=|4 5 6 |,MatB=|6 5 4|, MatAx MatB=?
789 321

Key in operation Display
MatA: SHE=

Mo : .

1] 1] I!I]

1] 1]

a

ME=E2=06E]E=E1E) Matﬁ:?xB

2 3

EEeE=EE=EwE=E) y g
SEEE [ 4 ]
%m@@@ MatEr:?:xtB 0
IR

9(=18)(=)1(7)(=](6) Mat-B:?)QB . .
EEEEEE [ i H]

EmME i i
& 3) Matsed
5]
s MatAns : ==

& A=) : 2y |a]

BY [:] 54

138 (AL} D)

SA

! Matrices which will be added, subtracted or multiplied must be the
same size. An error occurs if you try to add, subtract or multiply
matrices whose dimensions are different from each other. For
example, you cannot add or subtract a 2 x 3 to a 2 x 2 matrix.
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Obtain the Scalar Product of a Matrix

Each position in the matrix is multiplied by a single value, resulting in
a matrix of the same size.

Example: Multiple Matrix C = | > 2 |by2  <Resutt| © ~* >
xample: Multiple Matrix C = 15 y esu._2 10
Key in operation Display
Apps MAtC: E2HE
OMBEO® i 0
1] 1]
a
BIEI=I2I (=)= MatC: ZxE
a -
MEEE - ]
=
[ca) &= (5] (X (2] (=) MatANS : ZxE
B -l
-2 [
=]
Obtain the Determinant of a Matrix 105 3
Example: Obtain the determinant of Matrix C={-4 9 2
<Result: -471> 1 7 -3
Key in operation Display
[l (1)1 © (2 MatA:=is
0 ]
] [ u]
o 1] 1]
a
W)EE=IEIEE] | Mavh:zEz
E@EEEE 3 ja]
EMMEDE= ! L o
(=)
Apps @ 1) Dt Cl
=]
e 3y (=) DetcMatal
-471

! An error occurs if you obtain the determinant of a non-square

matrix.
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Transpose a Matrix

9 5
96 8
Example: Transpose Matrix B = | 6 2} <Result: [5 2 4} >
8 4
Key in operation Display
Apps MAatE : Xz
| R PR O EN = u
1] III]
1] 1]
]
J=6E]E=6](=]2])] Hate: iz
EEEGE 7l
] _E
& @ (2 Trnd
=]
Apps MatANS  2x=
e @E siExg
5 2 y
9
Identity of Matrix
10
Example: Identity Matrix D { 0 J
Key in operation Display
& v (3] Idenl
5]
2]0=) MatANS { EXE
1]
1] ]
1
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Adjoint of Matrix
Example: Adjoint Matrix A

23 Result: | >
- )
45 esut | 4

3

}

2
Key in operation Display
@EMHOE M g
0 i
A
2IEEIEIMEIGE]| Haeh:exs
2
=) 5 |
=1
& © @ Frt i 0
A
e =) MatANS : 2XE
= -3
-y a]
=)
Invert a Matrix
8 2
Example: Inverting Matrix C= | 3 ¢
<Result {0.142857142 -0.047619047}
-0.071428571 0.19047619
Key in operation Display
Apps MatC: ZHE
(@) D30 © B =
0 1]
a
CIEIRIEIEIE](6]] Hase: ax=
= j—]
=]
& © 5 Inud
=}
EE0IE=E) MELANS | EXE
[I'm!ﬂ'- T -0l 0U7
-0.011 0. |5uu]
1.7
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Determine the Absolute Value of a Matrix

Example: To determine the absolute value of the inverted Matrix C in
the previous example.

Key in operation

Display

Abscl
=]
MatANS : 2=
[ITII!FF 0. IJI-I'1Ii]
0.0714 0. 1904
1.7

Vector Calculati

M Press to enter Vector mode.
B Before starting vector calculations, you have to create one or
more vectors named A, B, C and D (maximum four vectors at one

time).

B The vector calculation results are stored into VctAns memory
automatically. You can use the vector VctAns memory for any
subsequent vector calculations.

Creating a Vector

W Press to enter Vector mode.

Apps
W Press ™ to use the Vector tool;

Vector?
l:VotA  ZiVCoitE
SJWCtC  4rvctD

1:0im ZiDats
VoA diMCLE
HN EilCtD

(=
TiVWCotAns S:00t

ITEM DESCRIPTION
[1] Dim Specify the Vector Name A to D, and specify the
dimension (2D or 3D)
[2] Data Specify the Vector A-D for editing and corresponding

matrix element

[3] VctA to VetD

Select Vector Ato D

[4] VctAns

Calculation Answer of Vector stored into VctAns

5] Dot

Input the “=” command for obtaining the dot product
of a vector Outside VCTR MODE Apps

W Press to exit the matrix creating screen.
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Editing Vector Elements
Apps

B Press (2] (data), then specify the matrix A, B, C or D for
editing, and the corresponding vector element indicator will be
displayed.

B |nput the new value and press (=] to confirm the edit.

B Press to exit the vector editing screen.

Vector Addition and Subtraction

Example: Vector A = (9,5), Vector B = (7,3), Vector A — Vector B =?

Key in operation Display
=E0E Vi o
E6EE YRS —
&2 VeEEEZ .
=EEE YR
& (3] (=) ucta-i
=EE s * a

! An error occurs if you try to add or subtract vectors whose

dimensions are different from each other. For example Vector A

(a,b,c) cannot add or subtract to or from Vector B (d,e).
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Obtain the Scalar Product of a Vector
Each position in the vector is multiplied by a single value, resulting in
a vector of the same size.

s x VctA(a,b) = VctB(axs, bxs)

Example: To Multiply Vector C = (4,5,-6) by 5

Key in operation Display
=S RIENEN Y 0w
a
AEDEOEE "
-5
@ESBIXIGEIE | Vi © e -
A

Calculate the Inner Product of Two Vectors

Example: Calculate the inner product of Vector A and Vector B. As

Vector A = (4,5,-6) and Vector B = (-7,8,9).

Key in operation Display
Apps H
(ea) & (1) (0 (1) wepReE
[s]
[ )
AELEOEE] %
-G
Apps :
()™ 1]2]1] Vo 0 ol
a
UohE S
DEEEOE| ™2 |
=]
(ca) 53] ucte
5]
& E) ucta-
5]
& e (=) Uct- UctE
-40

127




Calculate the Outer Product of Two Vectors

Example: Calculate the outer product of Vector A and Vector B. As

Vector A = (4,5,-6) and Vector B = (-7,8,9).

Key in operation Display
()¢ () (1) (1) Y 1w
a
AEEEOEE | vz |
-6
() &5 (2] (10 N
]
ODOEBEDE | "
=]
%E [lad A S EL |
5]
93

! An error occurs if you try to obtain an inner or outer product of two

vectors whose dimensions are different from each other.

Determine the Absolute Value of a Vector

Example: Determine the absolute value of the Vector C. When

Vector C = (4,5,-6) and is already created in the calculator.

LINE MODE: & &% (2]

Key in operation Display
() & (0 (301 veems
2
VoA =

@EIGEIEIIE]E=]) | Y=g « m—
-5

(ca] [aes] &5 (5] D) (=) AbECUCto)
2. 774964287
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Example : Based on Vector A=(-1, 0, 1) and Vector B=(1, 2, 0),
determine the size of the angle 6 (angle unit: Deg) and a
unit 1 vector perpendicular to both A and B.

(A-B) 1(A-B)
cosf= ER , Whereas 6= cos TATE|
Unit 1 vector perpendicular to both A and B= %
< Result:%:m .0.333333333, 0 ) >
Key in operation Display
[ea) ¢ (1) (1) (1) T
a
Lok S
OMEOEIME | Y555 |
1
Apps VotE: =
[ea]™ (1)(2](1] - ] ol
2
WohE S
WEZEDLE I
8
(Al (3] ™ (8] (4] | ucta-UctE
=) -1
(=10 (Aes) 5 Foee 3] Ans+CAbsCUCER Ik
Apps
(ko] SIS -, 316227768
2 < ang (0 )(5) ((3] | vezans:=
m I = [ _d 1 -
-z
Apps Apps Vo hANS =
(aes] 5 (I [(=) B[ T 10,3333 -0.68E]
(=](ang (=) -
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Function (x, y) Table Calculation

M Input f(x) function to generate the function table for x & f(x).
B Steps to generate a Number Table
1. Press ['6 ] to enter the Table function calculation.
2. Function Input screen Ao
Input funct|on with X variable (2] —% ) to generate the
Function Table Result.
All other variables (A, B, C, D, Y) and independent
memory (M) act as the value.
Pol, Rec, Q...r, S, functions can not be used in the
Function Input screen.
The Function Table Calculation will change X-variable.
3. The input the start, end, & step information
+ Input the value, press (=] to confirm on the following
screens
* Input expression and display result value in following
screens are in Line mode status
 There is a maximum of 30 x-values in the function table
generation. “Insufficient Error” will be shown if the start,
end, step value combination is more than 30 x-values.

Display screen You should input:-
Start? Input the lower limit of X (Default =1).
End? Input the upper limit of X (Default = 5).

*End value must be greater than the start value.

Step? Input the increment step (Default =1).

B In the Function Table Result screen, you cannot edit the
content, press to return to the Function Input screen.

Example : f(x) =x>+3x*-2x to generate the function table for
the range 1= x =5, incremented in steps of 1.

Key in operation Display
(6] f(x)=
B 8 £ [(#(30 7 | M= XXX
S E=2IE H
=E=EIE=EE=] é.i_1E Fm.E
El El us
1
ONONONO) T
clom?| 150
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Battery Replacement

Replace the battery immediately when the display characters are
dim even with a darker LCD display contrast OR when the
following message appears on the screen. Turn the calculator off
and replace the lithium battery immediately.

Low Battery

Please rePI_ace the lithium battery with the following procedures,

1. Press™ 2% t0 power off the calculator.

2. Remove the screw that securely fixes the battery cover in
place.

. Remove battery cover.

. Remove the old battery with the tip of a ball pen or similar

sharp object.

Load the new battery with positive “+” side facing up.

. Replace the battery cover, screw, and press s % % 3]

=) to initialize the calculator.

oo Aw

Caution: Risk of explosion if battery is replaced with an
incorrect type. Dispose of used battery according to
the instructions.

W Electromagnetic interference or electrostatic discharge may
cause the display to malfunction or the contents of the
memory to be lost or altered. Should this occur, press (on],

g &3 (=) to restart the calculator.

Advice and Precautions

» This calculator contains precision components such as LSI
chips and should not be used in places subject to rapid
variations in temperature, excessive humidity, dirt or dust, or
exposed to direct sunlight.

» The liquid crystal display panel is made of glass and should
not be subjected to excessive pressure.

»  When cleaning the device, do not use a damp cloth or volatile
liquid such as paint thinner. Instead, use only a soft, dry cloth.

+ Do not under any circumstances dismantle this device. If you
believe that the calculator is not functioning properly, either
bring or mail the device together with the guarantee to a
service representative of the Canon Business office.

» Never dispose the calculator improperly such as burning; it
can create risks of personal injury or harm. You are suggested
to dispose this product according to your national law.
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Battery Caution!
Keep the battery out of the reach of children. If the battery is
swallowed, contact a doctor immediately.

.+ Misuse of the battery may cause leakage, explosion, damages,
or personal injury.

« Do not recharge or disassemble the battery, it could cause a
short circuit.

« Never expose the battery to high temperatures, direct heat, or
dispose by incineration.

« Never leave a dead battery in the calculator as the dead battery
may leak and cause damage to the calculator.

« Continued use of the calculator in the low battery condition
may result in improper operation or the stored memory may be
corrupted or lost completely. Keep the written records of
important data all the time; and replace the battery as soon as
possible.

Power Supply olar Cell and Lithium battery (CR2032 x 1)
Power Consumption C 3.0V/0.3mW
Battery Life : Approximately 4 years
(Based on 1 hour of operation per day)
Auto power off : Approx. 7 minutes
Usable Temperature :0° ~40°
Size: 171 (L) x 86 (W) x 17.3 (H) mm (with cover) /
168 (L) x 80 (W) x 13.15 (H) mm (without cover)
Weight:  123g (with cover) / 88 g (without cover)
* Specifications are subject to change without notice.

CANON MARKETING JAPAN INC.
16-6,Konan 2-chome,Minato-ku, Tokyo 108-8011,Japan

© CANON ELECTRONIC BUSINESS MACHINES (H.K.) CO., LTD. 2018
MADE IN CHINA / PRINTED IN CHINA
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